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CHEMISTRY (HINGLISH)

BIOMOLECULES AND POLYMER

Ordinary Thinking Objective Question Carbohydrate

1. On heating glucose with Fehling solution. We get a

precipitate whose colour is?

A. Yellow

B. Red


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_OXTQVp8Nuwa8

C. Black

D. White

Answer: B

o Watch Video Solution

2. 0On hydrolysis of starch, we finally get

A. Glucose

B. Fructose

C. Glucose and fructose

D. Sucrose

Answer: A

| &


https://dl.doubtnut.com/l/_OXTQVp8Nuwa8
https://dl.doubtnut.com/l/_46uoYqpDvMch

[ W Watch Video Solution ]

3. Oxidation of glucose is one of the most important

reacations in a living cell. What is the number of ATP

molecules generated in cells from one molecules of glucose

A.38

B.12

C.18

D. 28

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_46uoYqpDvMch
https://dl.doubtnut.com/l/_2hF2Dm6Z9f4r

4. a — D glucose and B — D-glucose differ from each other

due to the difference in one of the carbon atoms, with

respect to its.

A. size of heiacetal ring

B. number of OH groups

C. Configuration

D. Conformation

Answer: C

° Watch Video Solution

5. Which of the following is the sweetest sugar?


https://dl.doubtnut.com/l/_1Fdgi8W6bFl4
https://dl.doubtnut.com/l/_LtGQUBpjVNsR

A. Glucose

B. Fructose

C. Lactose

D. Sucrose

Answer: B

o Watch Video Solution

6. Which of the following is correct statement

A. proteins are not amino acids

B. a-hydrogen is present in fructose

C. starch is polymer of a-glucose

D. Amylose is compound of cellulose


https://dl.doubtnut.com/l/_LtGQUBpjVNsR
https://dl.doubtnut.com/l/_RQXrw4DHo9tb

Answer: C

o Watch Video Solution

7. Glycolysis is

A. Conversion of glucose to haem

B. Oxidation of glucose to glutamate

C. Conversion of pyruvate to citrate

D. Oxidation of glucose to pyruvate

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_RQXrw4DHo9tb
https://dl.doubtnut.com/l/_O7AvonlXvLdZ

8. Which functional group participates in the disulphide

bond formation in proteins?

A. Thiolactone

B. Thiol

C. Thioether

D. Thioester

Answer: B

° Watch Video Solution

9. Fructose reduces Tollens' reagent due to :

A. Asymmetric carbons


https://dl.doubtnut.com/l/_hxmAx2LitTW4
https://dl.doubtnut.com/l/_IgHKbTdgeZWT

B. Primary alcoholic group

C. Secondary alcoholic group

D. Enolisation of fructose followed by conversion to

aldehyde by base

Answer: D

° Watch Video Solution

10. Which does not mutarotation

A. Sucrose

B. Maltose

C. Glucose

D. Fructose


https://dl.doubtnut.com/l/_IgHKbTdgeZWT
https://dl.doubtnut.com/l/_vdPs9KPXVFnN

Answer: A

o Watch Video Solution

1. Which one of the following statements is not true

regarding (+) lactose

A. (+)lactose, C'19 H95011 contains 8-OH groups

B.on hydrolysis (+) lactose give equal amount of D(+)

glucose and D(+) galactose

C.(+) Lactose is a B-glycoside formed by the union of a

D(+) glucose and a molecules of D(+) galactose

D. (+) lactose is reducing sugar and does not exhibit

mutarotation


https://dl.doubtnut.com/l/_vdPs9KPXVFnN
https://dl.doubtnut.com/l/_KyzRdeC4oeUv

Answer: D

o Watch Video Solution

12. Which one of the following sets of monosaccharides

forms sucrose ?

A. a-D-galactopyranose and a-D-glucopyranose

B. a-D-glucopyranose and -D-fructofuranose

C. 8 — D-glucopyranose and a-D-fructofuranose

D. a-D-glucopyranose and 3-D-fructopyranose

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_KyzRdeC4oeUv
https://dl.doubtnut.com/l/_G3aHF5ajWJBC
https://dl.doubtnut.com/l/_YirwfZHDNzOz

13. D( + ) glucose reacts with hydroxylamine and yields an
oxime. The structure of the oxime would be :

Ao

B. Lo

C. Lo

D. e

Answer: B

o Watch Video Solution

14. Glucose forms many derivatives. The derivative which will

help to prove the furanose structure is


https://dl.doubtnut.com/l/_YirwfZHDNzOz
https://dl.doubtnut.com/l/_D0VMXWMOUg9m

A. Acetyl

B. Benzoyl

C. Osazone

D. Isopropylidene

Answer: D

o Watch Video Solution

15. It is best to carry out reactions with sugars in neutral or
acid medium and not in alkaline medium. This is because in
alkaline medium sugars undergo one of the following

changes

A. Racemisaiton


https://dl.doubtnut.com/l/_D0VMXWMOUg9m
https://dl.doubtnut.com/l/_C33eRAWtXbJ7

B. Decomposition

C. Inversion

D. Rearrangement

Answer: C::D

° Watch Video Solution

16. The commonest disaccharide has the molecular formula

A. C10H1509

B. C190H201

C.C1sH5 011

D. C12H3,01;


https://dl.doubtnut.com/l/_C33eRAWtXbJ7
https://dl.doubtnut.com/l/_Hg2GePreDU07

Answer: D

o Watch Video Solution

17. Yeast cell derive their energy from glucose by

A. Glycolysis

B. Respiration formation

C. Formation

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Hg2GePreDU07
https://dl.doubtnut.com/l/_sdKJ7k0D8Al1

18. Methyl—a — D — glucoside and methyl—-§8 — D —

glucoside are:

A. Epimers

B. Anomers

C. Enantiomers

D. Conformational disatereomers

Answer: B

° Watch Video Solution

19. The beta (8) and alpha (a) glucose have different specific

rotation. When either is dissolved in water, their specific


https://dl.doubtnut.com/l/_r0V5XSWBfW3g
https://dl.doubtnut.com/l/_TCdDY1dYB8NQ

rotation changed to reach a certain fixed value. This is called

A. Epimerisation

B. Racemisation

C. Anomerisation

D. Mutarotation

Answer: D

° Watch Video Solution

20. Which of the following compounds is found abundantly

in nature?

A. Fructose


https://dl.doubtnut.com/l/_TCdDY1dYB8NQ
https://dl.doubtnut.com/l/_AqQyVz7DQNdM

B. Starch

C. Glucose

D. Cellulose

Answer: D

° Watch Video Solution

21. Glucose gives silver mirror with Tollen's reagent, it shows

the presence of

A. An acidic group

B. An alcoholic group

C. A ketonic group

D. An aldehydic group


https://dl.doubtnut.com/l/_AqQyVz7DQNdM
https://dl.doubtnut.com/l/_AYRLy73uyghm

Answer: A

o Watch Video Solution

22. Starch is converted to maltose by

A. Maltase

B. Invertase

C. Zymase

D. Diastase

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_AYRLy73uyghm
https://dl.doubtnut.com/l/_R3xC097L8sqw

23. Glucose had different from fructose is that

A. Dioes not undergo hydrolysis

B. Gives silver mirror with tollen's reagent

C. Monosaccharide

D. None of these

Answer: D

o Watch Video Solution

24. Which enzyme convertes sucrose into ethanol

A. Diastase

B. Invertase


https://dl.doubtnut.com/l/_Dg9EuVty4wa7
https://dl.doubtnut.com/l/_VBLZvfca8Sok

C. Zymase

D. Both (b) and (c)

Answer: D

° Watch Video Solution

25. The reagent which forms crystalline osazone derivatives

when heated with glucose is?

A. Fehling solution

B. Phenylhydrazine

C. Benedict solution

D. Hydroxylamine


https://dl.doubtnut.com/l/_VBLZvfca8Sok
https://dl.doubtnut.com/l/_9crV4jUNm6VK

Answer: B

o Watch Video Solution

26. Glucose gives many reactions of aldehyde, because

A. It is hydrolysed to acetaldehyde

B. It is polyhydroxy ketone

C. It is a cyclic aldehyde

D. It is a hemiacetal in equillibrium with its aldehyde form

in solution

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_9crV4jUNm6VK
https://dl.doubtnut.com/l/_3kow1Rmu2U8Z

27. When copper is heated with conc. HNOj; it produces?

A. Sucrose nitrate

B. Formic acid

C. Oxalic acid

D. Citric acid

Answer: C

o Watch Video Solution

28. Starch is a polymer of

A. Glucose

B. Fructose


https://dl.doubtnut.com/l/_lTb9y0CZktbw
https://dl.doubtnut.com/l/_ls7kzKMiYMme

C. Both (a) and (b)

D. None of these

Answer: A

° Watch Video Solution

29. The ultimate product of oxidation of most of hydrogen

and carbon in foodstuffs are

A. H,O alone

B. CO, alone

C. H,O and CO,

D. None of these


https://dl.doubtnut.com/l/_ls7kzKMiYMme
https://dl.doubtnut.com/l/_mUJyUWYNFsTy

Answer: C

o Watch Video Solution

30. Which of the following monosaccharides is a pentose

A. Galactose

B. Glucose

C. Fructose

D. Arabinose

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_mUJyUWYNFsTy
https://dl.doubtnut.com/l/_aGoA5aWvZoLB

31. Glucose when treated with CH30H in presence of dry

HCl gives a-and B-methylglucosides because it contains:

A. An aldehyde group

B.A — CH,OH group

C.Aring structure

D. Five hydroxyl groups

Answer: C

° Watch Video Solution

32. Glucose contains in addition to aldehyde group

A. One secondary OH and four primary OH groups


https://dl.doubtnut.com/l/_fYOvMmEzNWQC
https://dl.doubtnut.com/l/_AWCSe6Rl4KLM

B. One primary OH and four secondary OH groups

C. Two primary OH and three secondary OH groups

D. Three primary OH and two secondary OH groups

Answer: B

° Watch Video Solution

33. The disaccharide present in milkis :

A. Maltose

B. Lactose

C. Sucrose

D. Cellobiose


https://dl.doubtnut.com/l/_AWCSe6Rl4KLM
https://dl.doubtnut.com/l/_EltE2eaDnODj

Answer: B

o Watch Video Solution

34.Benedict solution provides

A Agt
B.Li"
C.Cu™?

D. Ba 2

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_EltE2eaDnODj
https://dl.doubtnut.com/l/_NSjKy5sl6Q3R

35. Which of the following statements about ribose is

incorrect

A. It is polyhydroxy compound

B. It is an aldehyde sugar

C. It has six carbon atoms

D. It exhibit optical activity

Answer: C

° Watch Video Solution

36. Starch can be used as an indicator for the detection of

traces of


https://dl.doubtnut.com/l/_gqYOWV5oACwx
https://dl.doubtnut.com/l/_wCvBV3QoQbSZ

A. Glucose in aqueous solution

B. Protein in blood

C. lodine in aqueous solution

D. Urea in blood

Answer: C

O Watch Video Solution

37. Glucose cannot be classified as

A. A hexose

B. A carbohydrate

C. An oligosaccharide

D. An aldose


https://dl.doubtnut.com/l/_wCvBV3QoQbSZ
https://dl.doubtnut.com/l/_q9um4I2Qa4JV

Answer: C

o Watch Video Solution

38. Which of the following is a disaccharide ?

A. Lactose

B. Starch

C. Cellulose

D. Glucose

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_q9um4I2Qa4JV
https://dl.doubtnut.com/l/_HpswGnvLrWGU

39. Which carbohydreates is used in silvering of mirrors

A. Sucrose

B. Starch

C. Glucose

D. Fructose

Answer: C

o Watch Video Solution

40. Which of the following does not show any reducing test

of aldehyde

A. Sucrose


https://dl.doubtnut.com/l/_YjWRLkNpPWA0
https://dl.doubtnut.com/l/_nYRlf9HpnGoH

B. Fructose

C. Maltose

D. Lactose

Answer: A

o Watch Video Solution

41. Which among the following is the simplest

A. glucose
B. Cellulose
C. Starch

D. None of these


https://dl.doubtnut.com/l/_nYRlf9HpnGoH
https://dl.doubtnut.com/l/_i7CZFnmg5sgR

Answer: A

o Watch Video Solution

42.The substances that forms the plant cell walls is or which

carbohydrates is an essential constituents of plant cells

A. Cellulose

B. Sucrose

C. Vitamins

D. Starch

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_i7CZFnmg5sgR
https://dl.doubtnut.com/l/_FX59DXYcfncG
https://dl.doubtnut.com/l/_47wyy48fwhtr

43. To become a carbohydrate, a compound must contain at

least:

A. 2 carbons

B. 3 carbons

C. 4 carbons

D. 6 carbons

Answer: B

o Watch Video Solution

44. Glactose is converted into glucose in

A. Mouth


https://dl.doubtnut.com/l/_47wyy48fwhtr
https://dl.doubtnut.com/l/_Qf8n9B02G7NZ

B. Stomach

C. Liver

D. Instestine

Answer: C

o Watch Video Solution

45. What is an invert sugar ?

A.lsorotatory

B. Dextrorotory

C. Laevorotatory

D. Optically inactive


https://dl.doubtnut.com/l/_Qf8n9B02G7NZ
https://dl.doubtnut.com/l/_SBpNULUOkFMn

Answer: C

o Watch Video Solution

46. An example of a disaccharide made up of two units of the

same monosaccharides is

A. sucrose

B. maltose

C.lactose

D. none of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_SBpNULUOkFMn
https://dl.doubtnut.com/l/_8bXXfgaAou1y
https://dl.doubtnut.com/l/_hTnKXfVvcfYx

47. Which of the following are the main source of

carbohydrates

A. Green plant

B. Fructose

C. Glucose

D. Both (b) and (c)

Answer: A

° Watch Video Solution

48. A certain compound gives negative test with ninhydrin

and positive test with Benedict's solution. The compound is


https://dl.doubtnut.com/l/_hTnKXfVvcfYx
https://dl.doubtnut.com/l/_MLmWbJqh2Gq8

A. A protein

B. A monosaccharides

C. Alipid

D. An amino acid

Answer: B

o Watch Video Solution

49. The charging of sugar , when treated with conc. Hy50y,,

is due to

A. Oxidation

B. Reduction

C. Dehydration


https://dl.doubtnut.com/l/_MLmWbJqh2Gq8
https://dl.doubtnut.com/l/_k4VrJ7xA7sC9

D. Hydrolysis

Answer: C

o Watch Video Solution

50. Indigestible carbohydrate, which is also a constituent of
our diet, is

A. Cellulose

B. Galactose

C. Maltose

D. Starch

Answer: A

| o Wiakll.\tdaa AL .&lam



https://dl.doubtnut.com/l/_k4VrJ7xA7sC9
https://dl.doubtnut.com/l/_Dsg7ZDG0VQpy
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51. The calrofic value is maximum in case of

A. Milk

B. Proteins

C. Mineral

D. Carbohydrates

Answer: D

o Watch Video Solution

52. Carbohydrates are stored in human body as

A. Glucose


https://dl.doubtnut.com/l/_Dsg7ZDG0VQpy
https://dl.doubtnut.com/l/_nd5YOnNBdMdb
https://dl.doubtnut.com/l/_44pKz9gpWm0E

B. glycogen

C. Starch

D. Fructose

Answer: B

o Watch Video Solution

53. Which set of terms correctly identifies the carbohydrates

shown

Lo

A.13 and 6

B.1,3and 5

C.2,3and 5


https://dl.doubtnut.com/l/_44pKz9gpWm0E
https://dl.doubtnut.com/l/_Fs3y3m3HWWAR

D.2,3and 6

Answer: A

o View Text Solution

54. Pick out the incorrect statements (s) from the following
(1) Glucose exists in two different crystalline forms, a-D-
glucose and -D-glucose

(2) a-D-glucose and B-D-glucose are anomers

(3) a-D-glucose and B-D-glucose are enantiomers

(4) Cellulose is a straight chain polysaccharide made of only
B-D-glucose units

(5) Starch is a mixture of amylose and amylopecting, both

contain unbranched chain a-D-glucose unit


https://dl.doubtnut.com/l/_Fs3y3m3HWWAR
https://dl.doubtnut.com/l/_qj8Mpxa0wmhb

A.1and 2

B.2and 3

C.3and 4

D.3and 5

Answer: D

o Watch Video Solution

55. The artifical sweetener containing sulphur that has

appearance and taste as that of sugar and is stable at

cooking temperatureis

A. Aspartame

B. Saccharin


https://dl.doubtnut.com/l/_qj8Mpxa0wmhb
https://dl.doubtnut.com/l/_kMdTEFA87eY5

C.Sucrolose

D. Alitame

Answer: C

o Watch Video Solution

56. Glucose does not react with

A. Br2 /HzO
B. HNOH
C. HI

D. NCI,HSO3

Answer: D

| &


https://dl.doubtnut.com/l/_kMdTEFA87eY5
https://dl.doubtnut.com/l/_g0oc2R2mwkY6

[ W Watch Video Solution ]

57. The linkage between the two monosaccharide units in

lactoseis

A. Cof B-D-glucose and C} of 3-D-glactose

B. C; of B-D-galactose and C} of 8 — D-glucose

C. C; of a-D-galactose and C} of 3-D-glucose

D. C] of B-D-glactose and Cy of a-D-glucose

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_g0oc2R2mwkY6
https://dl.doubtnut.com/l/_U0ZWN2c0Mk5r

58. The glycosidic linkage involved in linking the glucose

units in amylose part of starch is

A. C1 — C4p linkage

B.C; — Cga linkage

C.C; — Csa linkage

D. C; — CgpBlinkage

Answer: D

° View Text Solution

59. Which one of the following is laevorotatory

A. glucose


https://dl.doubtnut.com/l/_yIeSy1CFM3gs
https://dl.doubtnut.com/l/_LYkbNJ3TQmPN

B. Sucrose

C. Fructose

D. None of these

Answer: C

o Watch Video Solution

60.Blood sugar is the same as

A. Glucose

B. Galactose

C. Glycogen

D. Fructose


https://dl.doubtnut.com/l/_LYkbNJ3TQmPN
https://dl.doubtnut.com/l/_loW9oW1aFwFm

Answer: A

o Watch Video Solution

61. If an aqueous solution of glucose allowed to freeze then

crystal of which will be separated out first

A. Glucose

B. water

C. both of these

D. none of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_loW9oW1aFwFm
https://dl.doubtnut.com/l/_FXgCRrHweDLr
https://dl.doubtnut.com/l/_zDPfsvNgHSQJ

62. sucrose on hydrolysis gives

A. Two molecules of glucose

B. Two molecules of fructose

C. one molecules each of glucose and fructose

D. one molecules each of the glucose and mannose

Answer: C

o Watch Video Solution

63. All monosaccharide......Tollens reagent

A. Oxidises

B. Condense with


https://dl.doubtnut.com/l/_zDPfsvNgHSQJ
https://dl.doubtnut.com/l/_aEZCUJWs7yqR

C. Reduces

D. Add to

Answer: C

o Watch Video Solution

64. In the following structure,
&=

anomeric carbon is

Al

B.2

C.3

D.4


https://dl.doubtnut.com/l/_aEZCUJWs7yqR
https://dl.doubtnut.com/l/_r33YDM9HwdNv

Answer: A

o View Text Solution

65. Osazone formation involves only 2 carbon atoms of

glucose because of

A. Chelation

B. Oxidation

C. Reduction

D. Hydrolysis

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_r33YDM9HwdNv
https://dl.doubtnut.com/l/_DFCJbHwEnQNn
https://dl.doubtnut.com/l/_V8ukjFYi1UAW

66. glucose will show mutarotation when solvent is

A. Acidic

B. Basic

C. Neutral

D. Amphoteric

Answer: C

° Watch Video Solution

67. Glucose and fructose form

A. same osazone

B. same acid on oxidation


https://dl.doubtnut.com/l/_V8ukjFYi1UAW
https://dl.doubtnut.com/l/_muH5uyhIP4pR

C. same alcohol when reduced

D. different osazone

Answer: A

° Watch Video Solution

68. Which one of the following is the reagent used to identify

glucose

A. Neutral ferrice chloride

B. Chloroform and alcoholic KOH

C. Ammoniacal silver nitrate

D. Sodium ethoxide


https://dl.doubtnut.com/l/_muH5uyhIP4pR
https://dl.doubtnut.com/l/_AMA7KdQx5gjl

Answer: C

o View Text Solution

69. The number of atoms in the cyclic structure of D-fructose

A5

B.6

C.4

D.7

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_AMA7KdQx5gjl
https://dl.doubtnut.com/l/_QZFObv1vQCAk
https://dl.doubtnut.com/l/_8VJpjBfDXgkm

70. In  polysaccharides, the linkage

monosaccharide is called

A. Glycoside linkage

B. Nucleoside linkage

C. Glycogen linkage

D. Peptide linkage

Answer: A

connecting

o Watch Video Solution

71. On reduction with Na-Hg and water a carbohydrate gives

a mixture of sorbitol and mannitol. The carbohydrate can be


https://dl.doubtnut.com/l/_8VJpjBfDXgkm
https://dl.doubtnut.com/l/_tT7FtyhPgzHL

A. Glucose

B. fructose

C. cane sugar

D. lactose

Answer: B

o Watch Video Solution

72. Which of the following pentose will be optically active

o

A All

B. Il and Ill

C. 1


https://dl.doubtnut.com/l/_tT7FtyhPgzHL
https://dl.doubtnut.com/l/_zAEM9aXvoPQ7

D. I

Answer: A

o View Text Solution

73. Which carbohydrate has highest abundance in human

blood

A. D-fructose
B. D-glucose
C. Sucrose

D. Lactose

Answer: B

| o Wiakll.\ntdaa AL .&lam



https://dl.doubtnut.com/l/_zAEM9aXvoPQ7
https://dl.doubtnut.com/l/_Sy2FMoyKLgzf
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74.Raffinose is a

A. Trisachharide

B. Monosaccharide

C. Disaccharide

D. None of these

Answer: A

o Watch Video Solution

75.lodine test is shown by

A. Polypeptide


https://dl.doubtnut.com/l/_Sy2FMoyKLgzf
https://dl.doubtnut.com/l/_5umgxtq9DwRQ
https://dl.doubtnut.com/l/_ZreD0KsRjCy8

B. Glycogen

C. Starch

D. Glucose

Answer: C

° Watch Video Solution

76. Which the one of the following is first member of
monosaccharides ?

o

]
A CH,CH — C — CH,OH

B.CH,OH — CHOH — CHO

C.CH,OH — CHOH - CHOH — CHO


https://dl.doubtnut.com/l/_ZreD0KsRjCy8
https://dl.doubtnut.com/l/_Vx0CgW19rCY8

0

|
D.CH,OH - CHOH — C — CH,OH

Answer: B

o Watch Video Solution

77. Which of the following reduces Tollen's reagent ?

A. Cane sugar

B. Starch

C. Glucose

D. All of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Vx0CgW19rCY8
https://dl.doubtnut.com/l/_GfqwZFmaV0uT

78. Glucose and fructose are

A.lsotope

B. Isotones

C.lsomers

D. Homologues of each other

Answer: C

o Watch Video Solution

79. The term anomer of glucose refers to


https://dl.doubtnut.com/l/_GfqwZFmaV0uT
https://dl.doubtnut.com/l/_5PPKFasGe2Dq
https://dl.doubtnut.com/l/_01LSmKyQ68si

A.lsomers of glucose that differ in configuration at

carbons one and four (C-1 and C-4)

B. A mixture of (D)-glucose and (L)-glucose

C. Enantiomers of glucose

D.lsomers of glucose that differ in configuration at

carbon one (C-1)

Answer: D

° Watch Video Solution

80. The two function groups present in a typical

carbohydrate are

A. —OH and -COOH


https://dl.doubtnut.com/l/_01LSmKyQ68si
https://dl.doubtnut.com/l/_nzC5TSuIeW7n

B. —CHOQO and -COOH

C. > (=0 and -OH

D.—OH and —CHO

Answer: D

° Watch Video Solution

81. Which of the following compound can be detected by

Molisch's test?

A. Nitro compounds

B. Sugars

C. Amines

D. Primary alcohols


https://dl.doubtnut.com/l/_nzC5TSuIeW7n
https://dl.doubtnut.com/l/_VadsKDyvPm5R

Answer: B

o Watch Video Solution

82. Milk change after digestion into

A. Cellulose

B. Fructose

C. glucose

D. Lactose

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_VadsKDyvPm5R
https://dl.doubtnut.com/l/_9O2U1zvkDA7z

8. Which of the following is an example of ketohexose ?

A. Mannose

B. Galactose

C. Maltose

D. Fructose

Answer: D

o Watch Video Solution

84.When amylases catalyse the hydrolysis of starch , the final

product obtained is chiefly

A. Cellobiose


https://dl.doubtnut.com/l/_BHWPwTxA6xLg
https://dl.doubtnut.com/l/_htfCJ9bICuau

B. Glucose

C. Maltose

D. Sucrose

Answer: C

° Watch Video Solution

85. To detect the reducing and non reducing sugar,which if

the following test is used?

A. Molisch test

B. biuret test

C. Fehling's test

D. Million's test


https://dl.doubtnut.com/l/_htfCJ9bICuau
https://dl.doubtnut.com/l/_NtDMSPFH858o

Answer: C

o Watch Video Solution

86. Which is false

A. glucose is a disaccharide

B. starch is a polysaccharide

C. Glucose and fructose are not anomers

D. Invert sugar consists of glucose and fructose

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_NtDMSPFH858o
https://dl.doubtnut.com/l/_NhNkN5cxYhcb

87. Glucose and fructose can be disntiguished by

A. Lucus test

B. Ninhydrin test

C. Benedict reagent test

D. All the above

Answer: C

o Watch Video Solution

88. Carbohydrates are used by body mainly

A. for obtaining vitamins

B. As source of energy


https://dl.doubtnut.com/l/_hrED8JtKNH8L
https://dl.doubtnut.com/l/_Z2CuSuLZ0pVi

C. for all its developmental needs

D. for building muscels

Answer: B

° Watch Video Solution

89. Which of the following is the open-chain structure of D-

glucose?

A. Penta-acetyle derivative of glucose

B. Cyanohydrin formation with HCN

C. Reaction with fehling solution

D. Reaction with Tollen's reagent


https://dl.doubtnut.com/l/_Z2CuSuLZ0pVi
https://dl.doubtnut.com/l/_maEUc5stitg4

Answer: A

o Watch Video Solution

90. Lactose on hydrolysis gives

A. Two glucose molecules

B. Two galactose molecules

C. A galactose molecule and a fructose molecules

D. A galactose molecule and a glucose molecule

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_maEUc5stitg4
https://dl.doubtnut.com/l/_itXrqdNA73SY

91. The intermediate compound in the conversion of starch

to glucose is:

A. Lactose

B. Sucrose

C. Maltose

D. Fructose

Answer: C

° Watch Video Solution

92. The sugar present in fruits is

A. Fructose


https://dl.doubtnut.com/l/_gEfQc4hzOrvC
https://dl.doubtnut.com/l/_prsYH4r7IOh1

B. Glucose

C. Sucrose

D. Galactose

Answer: A

° Watch Video Solution

93. Invertase bring about the conversion of

A. Starch of glucose

B. Sucrose to glucose and fructose

C. Maltose to glucose

D. Glucose to Co H;OH and CO,


https://dl.doubtnut.com/l/_prsYH4r7IOh1
https://dl.doubtnut.com/l/_P1EZLW6x2wGQ

Answer: B

o Watch Video Solution

94. An example of non-reducing sugar is

A. Cane sugar

B. Fructose

C. Lactose

D. Cellobiose

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_P1EZLW6x2wGQ
https://dl.doubtnut.com/l/_DdfvSYLk8IjV

95. Which of the following does not reduce Benedict's

solution?

A. Sucrose

B. Aldehyde

C. glucose

D. Fructose

Answer: A

° Watch Video Solution

96. Which of the following is an aldohexose

A. Cellulose


https://dl.doubtnut.com/l/_KvsJ53c3GkGx
https://dl.doubtnut.com/l/_FzzlesrpkaAj

B. Sucrose

C. galactose

D. Raffinose

Answer: C

o Watch Video Solution

97. The sugar which is not a disaccharide in the following is :

A. Lactose

B. Galactose

C. Sucrose

D. Maltose


https://dl.doubtnut.com/l/_FzzlesrpkaAj
https://dl.doubtnut.com/l/_jiw3tvCI2n9r

Answer: B

o Watch Video Solution

98. An organic compound answers Molisch's test as well as

Benedict's test. But it does not answer Scliwanoff's test. Most

probably, it is

A. Sucrose

B. Protein

C. Fructose

D. Maltose

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_jiw3tvCI2n9r
https://dl.doubtnut.com/l/_uVNf0zYblC38

99. Pick out the one which does not belong to the family

A. pepsin

B. Cellulose

C. ptyalin

D. lipase

Answer: B

o Watch Video Solution

100. Amylopectin is

A. Water soluble


https://dl.doubtnut.com/l/_uVNf0zYblC38
https://dl.doubtnut.com/l/_QopB3d5nvUi2
https://dl.doubtnut.com/l/_znDnfF6mzz0M

B. Water insoluble

C. forms colloidal solution with water

D. Both (b) and (c)

Answer: B

° Watch Video Solution

101. A diabetic person carries a packet of glucose with him

always because

A. glucose increases the blood sugar level slowly

B. glucose reduces the blood sugar level

C.glucose increases the blood sugar level almost

instantaneously


https://dl.doubtnut.com/l/_znDnfF6mzz0M
https://dl.doubtnut.com/l/_536bWXuQ2gk0

D. Glucose reduces the blood sugar level slowly

Answer: C

° Watch Video Solution

102. Sucrose is not a reducing sugar since

A. It is chemically stable

B. it contains no free aldehyde or keto group adjacent to

a gtCHOH group

C. It is built up of a fructose unit

D. it is optically active

Answer: B

| &


https://dl.doubtnut.com/l/_536bWXuQ2gk0
https://dl.doubtnut.com/l/_ibsaeWJoAHwN

[ W Watch Video Solution

103. Saccharin , an artificial sweetener , is manufactured from

A. Cellulose

B. Toluene

C. Cyclohexane

D. Starch

Answer: B

° Watch Video Solution

104. Ribose and 2-deoxyribose can be differentiated by

A. Fehling's reagent


https://dl.doubtnut.com/l/_ibsaeWJoAHwN
https://dl.doubtnut.com/l/_dbjajzDefQiQ
https://dl.doubtnut.com/l/_XMemMqywLthY

B. Tollen's reagent

C. Barfoed's reagent

D. Osazone formation

Answer: D

o Watch Video Solution

105. Glucose and mannose are :

A. Epimers

B. Anomers

C. ketohexoses

D. Disaccharides


https://dl.doubtnut.com/l/_XMemMqywLthY
https://dl.doubtnut.com/l/_C4ASz6lOR4pY

Answer: A

o Watch Video Solution

106. In fructose the possible optical isomers are

A 12

B.8

C.16

D.4

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_C4ASz6lOR4pY
https://dl.doubtnut.com/l/_kLlWDZ7niMt4

107. Diabetes is detected using ....by testing urine of patients

A. Fehling's solution

B. Tollen's reagent

C. Benedict's solution

D. Baeyer's reagent

Answer: C

o Watch Video Solution

108. A carbohydrate is treated with a-naphthol and cone.
H,50, . What colour will be formed at the junction of two

liquids?


https://dl.doubtnut.com/l/_a0JUCM8xw6R9
https://dl.doubtnut.com/l/_LSfpDtO6OSVa

A. Blue

B. Violet

C. Green

D. Red

Answer: B

° Watch Video Solution

109. A carbohydrate which cannto be hydrolysed to simpler

compounds, is called

A. disaccharide

B. monosaccharide

C. polysaccharide


https://dl.doubtnut.com/l/_LSfpDtO6OSVa
https://dl.doubtnut.com/l/_U5vTi8qBPR9j

D. trisaccharide

Answer: B

o Watch Video Solution

110. In the viscope process the solvent for cellulose consists

of

A. Ether and alcohol
B. Copper sulphate and ammonia
C. sodium hydroxide and carbon disulphide

D. Acetic acid and acetic anhydride

Answer: C

| o Wiakl.\tdaa CcAlL.klam



https://dl.doubtnut.com/l/_U5vTi8qBPR9j
https://dl.doubtnut.com/l/_6fOw5FTRSycN

L —vvdtilll VIUCU JUIUVLIVIT

111. Glucose in blood can be quantitatively determined with

A. Tollen reagent

B. Benedict solution

C. Alkaline iodine solution

D. Bromine water

Answer: A

o Watch Video Solution

112. On hydrolysis , which produces only glucose

A. Galactose


https://dl.doubtnut.com/l/_6fOw5FTRSycN
https://dl.doubtnut.com/l/_hYMk9dUO8yvX
https://dl.doubtnut.com/l/_1KSzzOBxGVth

B. maltose

C. Sucrose

D. None

Answer: B

o Watch Video Solution

113. Cellulose is soluble in

A. Ammoniacal cupric hydroxide solution

B. organic solvents

C. Water

D. None of these


https://dl.doubtnut.com/l/_1KSzzOBxGVth
https://dl.doubtnut.com/l/_oJKzKwSeZrll

Answer: A

o Watch Video Solution

114. Which of the following is incorrect for glucose

A. it contains four —CHOH group
|
B. it contains one ketone group

C. It contains on —CH,;OHgroup

D. It contains one -CHO group

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_oJKzKwSeZrll
https://dl.doubtnut.com/l/_BLqrPduNlCba

115. Whe sucrose is heated to 483 K temperature, it loses

water and forms a brown amorphouse substance called

A. Aspartame

B. Caramel

C. Alitame

D. Sucrolose

Answer: B

° Watch Video Solution

116. Gun-cotton is

A. Nitrosucrose


https://dl.doubtnut.com/l/_UHSqFINCjNIP
https://dl.doubtnut.com/l/_Ut7XotnNvphY

B. Nitrocellulose

C. Nitroglucose

D. Nitropicrin

Answer: B

o Watch Video Solution

117. Amide group is present in

A. Lipids

B. Carbohydrates

C. Amino acids

D. Proteins


https://dl.doubtnut.com/l/_Ut7XotnNvphY
https://dl.doubtnut.com/l/_nk9yJPnaLRM9

Answer: D

o Watch Video Solution

118. Which of the following is a carbohydrate

A. Leucine

B. Albumin

C. Inulin

D. Maltase

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_nk9yJPnaLRM9
https://dl.doubtnut.com/l/_LbKCpaTBub1g

119. General formula for the carbohydrates is

A CnH2n02n+ 2
B.C,(H50),,
C. CZ(H2O)y

D. none of these

Answer: C

o Watch Video Solution

120. In the 'glycolipids’, the two sugars known to occure are

glucose and

A. fructose


https://dl.doubtnut.com/l/_7IM6ni64pL2P
https://dl.doubtnut.com/l/_gUal793Yof6x

B. Lactose

C. galactose

D. Sucrose

Answer: C

° Watch Video Solution

121. The 'epimerisation’ involves

A. Change in configuration

B. Addition of one more'C

C. Subtraction of a'C

D. Conversion of -CHO to -C=0


https://dl.doubtnut.com/l/_gUal793Yof6x
https://dl.doubtnut.com/l/_sE6dcB6FgqjE

Answer: A

o Watch Video Solution

122. The compound which does not contain an asymmetric

carbon atomis

A. Glycoaldehyde

B. Glyceraldehyde

C. Glucose

D. Galactose

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_sE6dcB6FgqjE
https://dl.doubtnut.com/l/_GpkRJ7AsupEW
https://dl.doubtnut.com/l/_f1SHiHslLQHk

123. Which of the following sign indicate that the sugar is

actually 'dextrorotatory'

B. +

C.R-

D. All of these

Answer: B

o Watch Video Solution

124. The standard compound for determination of

configuration in the 'sugar chemistry' is


https://dl.doubtnut.com/l/_f1SHiHslLQHk
https://dl.doubtnut.com/l/_koJLbihajQLS

A. Glycoaldehyde

B. Glyceraldehyde

C. Glucose

D. Fructose

Answer: B

o Watch Video Solution

125. Sugars are

A. Optically active polyhydroxy aldehydes

B. Optically active polyhydroxy ketones

C. Optically active polyhydroxy aldehydes or ketones


https://dl.doubtnut.com/l/_koJLbihajQLS
https://dl.doubtnut.com/l/_Go6RnejhgIG7

D. polyhydroxy aldehydes or ketones which may or may

not be optically active

Answer: D

° Watch Video Solution

126. Molecular formula of pentahydroxy acid obtained when

glucose is oxidised with Bry water is

A. C6H12O7

B. 06H1208

C. 06H1206

D. C6H1006


https://dl.doubtnut.com/l/_Go6RnejhgIG7
https://dl.doubtnut.com/l/_Nda1sRRhouQG

Answer: A

o Watch Video Solution

127. The calorific values of fats, carbohydrates and proteins

vary in the order

A. Fats > Carbohydrates > Proteins

B. Flats > proteins > carbohydrates

C. Carbohydrates > proteins > Fats

D. Proteins > Clarbohydrates > fats

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Nda1sRRhouQG
https://dl.doubtnut.com/l/_05gvXe4l1gWJ
https://dl.doubtnut.com/l/_L9ZmpggNVp8w

128. Gun-cotton is obtained when conc. Nitric acid reacts with

A. Glycerine

B. Glycol

C. Cellulose

D. Starch

Answer: C

° Watch Video Solution

129. The letter 'D' in carbohydrates represents

A. Its direct synthesis

B. its dextrorotation


https://dl.doubtnut.com/l/_L9ZmpggNVp8w
https://dl.doubtnut.com/l/_W5VF9MRqXrj1

C. its mutarotation

D. its configuration

Answer: D

° Watch Video Solution

130. The hydrolysis of sucrose produce a mixture which is

A. Laevorotatory

B. Dextrorotatory

C. Equally both (+) and (-)rotatory

D. Optically inactive

Answer: A

| &


https://dl.doubtnut.com/l/_W5VF9MRqXrj1
https://dl.doubtnut.com/l/_RB9oA6Coj7rY

[ W Watch Video Solution

131. Sucrose contains which of the following groups

A.—CHO

B. >C =0

C. both (a) and (b)

D. none of these

Answer: D

o Watch Video Solution

132. which is used in motion picture films

A. cellulose acetate


https://dl.doubtnut.com/l/_RB9oA6Coj7rY
https://dl.doubtnut.com/l/_XgW9NMcs3Je6
https://dl.doubtnut.com/l/_mg791o7PKs8r

B. glucose acetate

C. starch acetate

D. sucrose acetate

Answer: A

o Watch Video Solution

133. Artificial silk is a

A. polyamides

B. polyesters

C. polyacids

D. polysaccharides


https://dl.doubtnut.com/l/_mg791o7PKs8r
https://dl.doubtnut.com/l/_4qwimdGt3sHB

Answer: D

o Watch Video Solution

134. Assertion: Proteins on hydrolysis produce amino acids.

Reason : Amino acids contain NH,y and -COOH groups

A. If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. If both assertion and reason are true but reason is not

the correct explanation of the assertion.

C. If assertion is true but reason is false

D. if the assertion and reason both are false

Answer: B


https://dl.doubtnut.com/l/_4qwimdGt3sHB
https://dl.doubtnut.com/l/_3F1RmbZINCAp

° Watch Video Solution

135. Assertion : sucrose is known as invert sugar

Reason : sucrose is a disaccharide

A. If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. If both assertion and reason are true but reason is not

the correct explanation of the assertion.

C. If assertion is true but reason is false

D. if the assertion and reason both are false

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_3F1RmbZINCAp
https://dl.doubtnut.com/l/_pBZNyoZws30k

136. Assertion : Glycosides are hydrolysed in acidic

conditions.

Reason : Glycosides are acetals

A. If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. If both assertion and reason are true but reason is not

the correct explanation of the assertion.

C. If assertion is true but reason is false

D. if the assertion and reason both are false

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_zKR02QQ9SdxL
https://dl.doubtnut.com/l/_X4pcVbw4UrYR

137. Assertion : Sucrose is a non — reducing sugar.

Reason : It has glycosidic linkage.

A. If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. If both assertion and reason are true but reason is not

the correct explanation of the assertion.

C. If assertion is true but reason is false

D. if the assertion and reason both are false

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_X4pcVbw4UrYR

138. Assertion : The specific rotation of a freshly prepared
solution of a-glucose decreases from + 112° to 52.7° while
that of 8 glucose increases from +19° to 52.7° .
Reason: The change in specific rotation of an optically active
compound with time to an equilibrium value is called
mutarotation.
A. If both assertion and reason are true and the reason is
the correct explanation of the assertion.
B. If both assertion and reason are true but reason is not
the correct explanation of the assertion.

C. If assertion is true but reason is false

D. if the assertion and reason both are false

Answer: B


https://dl.doubtnut.com/l/_HRwO3oFeHgwd

° Watch Video Solution

139. Assertion : Milion's test is a test to identify

carbohydrates.

Reason: Milions' reagent is solution of mercurous nitrate and

mercuric nitrate in nitric acid contaning little nitrous acid.

A. If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. If both assertion and reason are true but reason is not

the correct explanation of the assertion.

C. If assertion is true but reason is false

D. if the assertion and reason both are false

Answer: D


https://dl.doubtnut.com/l/_HRwO3oFeHgwd
https://dl.doubtnut.com/l/_CM7KU9WtC8g1

° View Text Solution

140. Assertion: A solution of sucrose in water s
dextrorotatory but on hydrolysis in presence of little
hydrochloric acid, it becomes laevorotatory.
Reason: Sucrose on hydrolysis gives unequal amounts of
glucose and fructose as.
A.If both assertion and reason are true and the reason is
the correct explanation of the assertion.
B. If both assertion and reason are true but reason is not
the correct explanation of the assertion.

C. If assertion is true but reason is false

D. if the assertion and reason both are false


https://dl.doubtnut.com/l/_CM7KU9WtC8g1
https://dl.doubtnut.com/l/_XyafOX40XE4U

Answer: C

° Watch Video Solution

141. Assertion : Treatment of D-glucose with alkali affords an
equilibrium , D-fructose and starting substance D-glucose,
Reason: The reaction invovels an intermediate in which
hybridization of C5 change from sp° to sp?
A. If both assertion and reason are true and the reason is
the correct explanation of the assertion.
B. If both assertion and reason are true but reason is not
the correct explanation of the assertion.

C. If assertion is true but reason is false

D. if the assertion and reason both are false


https://dl.doubtnut.com/l/_XyafOX40XE4U
https://dl.doubtnut.com/l/_RetYTXKhZghh

Answer: A

o Watch Video Solution

Ordinary Thinking Proteins Amino Acids And Enzymes

1.Insulin is

A. An amino acid

B. Protein

C. A carbohydrate

D. Alipid

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_RetYTXKhZghh
https://dl.doubtnut.com/l/_M8gh7HnfCrsG

2. By the action of enzymes, the rate of biochemical reaction

A. Decreases

B. Increases

C. Does not change

D. Either (a) or (C)

Answer: B

° Watch Video Solution

3. Secondary structure of proteins refers to


https://dl.doubtnut.com/l/_M8gh7HnfCrsG
https://dl.doubtnut.com/l/_js6ANa12AdCq
https://dl.doubtnut.com/l/_kI6LNWOZPYaB

A. Mainly denatured protein and structure of prosthetic

groups

B. Three dimensional structure, specially the bond

between amino acids residues that are distant from

each other in the polypeptide chain

C.linear sequence of amino acid resudues in the

polypeptide chain

D. Regular folding patterns of continous portions of the

polypeptide chain

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_kI6LNWOZPYaB

4. of the following statements about enzymes which ones are
true

(i) Enzymes lack in nucleophilic groups

(i)Enzymes are highly specific both in binding chiral
substrates and in catalyzing their reactions.

(iii) Enzymes catalyse chemical reactions by lowering the
activation energy

(iv) Pepsin is a proteolytic enzymes

A. (i) and (iv)

B. (i) and (iii)

C. (ii),(i1i) and (iv)



https://dl.doubtnut.com/l/_vLGAMbN4GDV2

| @ View Text Solution

5. Enzymes in the living systems

A. Provide energy

B. Provide immunity

C. Transport oxygen

D. Catalyse biological process

Answer: D

° Watch Video Solution

6. Haemoglobin is


https://dl.doubtnut.com/l/_vLGAMbN4GDV2
https://dl.doubtnut.com/l/_aa4F8PN24Ry4
https://dl.doubtnut.com/l/_DnyiT8eWvvax

A. An enzymes

B. A globular protein

C. Avitamin

D. A carbohydrate

Answer: B

o Watch Video Solution

7. The number of essential amino acids in man is

A.8

B.10

C.18

D. 20


https://dl.doubtnut.com/l/_DnyiT8eWvvax
https://dl.doubtnut.com/l/_T9f2SUFUnNNv

Answer: B

o Watch Video Solution

8. The antibodies are

A. Carbohydrate

B. Glubular protein

C. Immunoglobulins

D. Cellulose compounds

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_T9f2SUFUnNNv
https://dl.doubtnut.com/l/_k9LxSG7OuxOi

9. Proteins are built up of

A. Dicarboxylic acids

B. Amino acids

C. Alcohols

D. Hydroxy acids

Answer: B

o Watch Video Solution

10. Enzymes are made up of

A. Carbohydrate

B. Edible proteins


https://dl.doubtnut.com/l/_YuNuo6tMqU8W
https://dl.doubtnut.com/l/_VhZZPt6gVC8n

C. Nitrogen containing carbohydrates

D. Proteins with specific structure

Answer: D

° Watch Video Solution

11. The helical structure of protein is stabilised by:

A. Peptide bonds

B. Dipeptide bonds

C. Hydrogen bond

D. Vander waal's force

Answer: C

| &


https://dl.doubtnut.com/l/_VhZZPt6gVC8n
https://dl.doubtnut.com/l/_Sd10M5i9cH0v

[ W Watch Video Solution ]

12. Which of the following represents a peptide chain ?

H H H o
AN-C-C N-CC-N-C0O-
| IOI | g |
B.
H (0] H
gt opobhogopop-
H " 0 ¢

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Sd10M5i9cH0v
https://dl.doubtnut.com/l/_SCaQdKAs5FoB

13. The correct statement in respect of protein haemoglobin

is that it

A. Acts as an oxygen carrier in the blood

B. Forms antibodies and offers resistance to disease

C. Functions as a catalyst for biological reactions

D. Maintains blood sugar level

Answer: A

° Watch Video Solution

14. Which one of the following is a peptide hormone ?

A. Thyroxin


https://dl.doubtnut.com/l/_0DFVKrpTwUPF
https://dl.doubtnut.com/l/_KDbBEKEiVK1K

B. Adrenaline

C. Glucagon

D. Testosterone

Answer: C

° Watch Video Solution

15. During the process of digestion, the proteins present in
food materials are hydrolysed to amino acids. The two
enzymes involved in the process

Enzyme(A) Enzyme (B)

Proteins ———— Polypeptides ———

Amino acids, are respectively.

A. Pepsin and Trypsin


https://dl.doubtnut.com/l/_KDbBEKEiVK1K
https://dl.doubtnut.com/l/_axcLF8GGBGgQ

B. Invertase and Zymase

C. Amylase and Maltase

D. Diastage and lipase

Answer: A

° Watch Video Solution

16. Which one of the following statement is incorrect about

enzyme catalyisis ?

A. Enzymes are mostly proteinous in nature

B. Enzyme action is specific

C.enzymes are denaturated by ultraviolet rays and at

high temperature


https://dl.doubtnut.com/l/_axcLF8GGBGgQ
https://dl.doubtnut.com/l/_ijC1MtwSs3Nm

D. Enzymes are least reactive at optimum temperature

Answer: D

o Watch Video Solution

17. Proteins are hydrolysed by enzymes into

A. Dicarboxylic acids

B. Hydoxy acids

C. Amino acids

D. Aromatic acids

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ijC1MtwSs3Nm
https://dl.doubtnut.com/l/_7HsKlUnCqvyn

18. Which @ amino acids can cross link peptide chains

A. Serine

B. Cysteine

C. Glutamine

D. Tyrosine

Answer: B

o Watch Video Solution

19. Among the following, the achiral amino acids is

A. 2-ethylalanine

B. 2-methylglycine


https://dl.doubtnut.com/l/_hEjEfep5VlCy
https://dl.doubtnut.com/l/_SG8KXWFjuNMJ

C. 2-hydroxymethyl serine

D. Tryptophan

Answer: C

° Watch Video Solution

20. Which of the following proteins destroy the antigen

when it enters in body cell ?

A. Antibodies

B. Insulin

C. Chromoprotein

D. Phosphorotein


https://dl.doubtnut.com/l/_SG8KXWFjuNMJ
https://dl.doubtnut.com/l/_IOrAxrwnmYYI

Answer: A

o Watch Video Solution

21. Which of the following biomolecules is insoluble in water?

A. a-Keratin

B. Haemoglobin

C. Ribonuclease

D. Adenine

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_IOrAxrwnmYYI
https://dl.doubtnut.com/l/_DFWSYUJRXJn5

22. Which of the following statements is true for protein

synthesis (translation)?

A. Amino acids are directly recognized by m-RNA

B. The third base of the codon is less specific

C. Only one codon codes for an amino acid

D. Every t-RNA molecule has more than one amino acid

attachment site

Answer: B

° Watch Video Solution

23. Among the following L-serine is


https://dl.doubtnut.com/l/_v6IxNw2k5pkx
https://dl.doubtnut.com/l/_AIACt8CYYCh1

Al

B. o

c.le

D. s’

Answer: C

o View Text Solution

24.Lysine is least soluble in water in the pH range:

A.3to4

B.5to 6

C.6to7

D.8to 9


https://dl.doubtnut.com/l/_AIACt8CYYCh1
https://dl.doubtnut.com/l/_6Iv51kQDk2J5

Answer: C

o Watch Video Solution

25. Proteins can be denatured by

A. carbon dioxide

B. carbon monoxide

C. Heat

D. Oxygen

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_6Iv51kQDk2J5
https://dl.doubtnut.com/l/_KDjP9ek9nKom

26. Albumin protein are most abundant in

A. Meat

B. Milk

C.Egg

D. Soyabean

Answer: C

o Watch Video Solution

27. Dialysis can separate

A. Glucose and fructose

B. Glucose and sucrose


https://dl.doubtnut.com/l/_bkiaVBdj0hpA
https://dl.doubtnut.com/l/_fNgiONtPRJdl

C. Glucose and NacCl

D. glucose and proteins

Answer: D

o Watch Video Solution

28.The 10 % energy transfer law of food chain was given by

A. Stanley
B. Weismann
C. Lindemann

D. Tansley

Answer: C

| &


https://dl.doubtnut.com/l/_fNgiONtPRJdl
https://dl.doubtnut.com/l/_NqhBvJJT4v07

[ W Watch Video Solution

29. Which of the following is a conjugated protein?

A. Glycoprotein

B. Phosphoprotein

C. Chromoprotein

D. All of these

Answer: D

° Watch Video Solution

30. Excess of Na " ions in our system causes

A. High B.P.


https://dl.doubtnut.com/l/_NqhBvJJT4v07
https://dl.doubtnut.com/l/_YoiY5NW80bhY
https://dl.doubtnut.com/l/_GTZCQcpwsRI4

B. Low B.P.

C. Diabetes

D. Anaemia

Answer: A

o Watch Video Solution

31. The optically inactive amino acid is

A. Lysine

B. Glysine

C. Arginine

D. Alanine


https://dl.doubtnut.com/l/_GTZCQcpwsRI4
https://dl.doubtnut.com/l/_8dZQDbMuX0tO

Answer: B

o Watch Video Solution

32. Which synthesis was done by Stainley Millar

A. Amino acids

B. Protein

C. Virus

D. Vitamin

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_8dZQDbMuX0tO
https://dl.doubtnut.com/l/_NktALEJ0mEFk

33. The end product of protein digestion is :

A. Amino acid

B. Glucose

C. Glycerol

D. Oxalic acid

Answer: A

o Watch Video Solution

34.The enzyme ptylin used for digestion of food is present in

A. Saliva


https://dl.doubtnut.com/l/_mltwhi0kaH2l
https://dl.doubtnut.com/l/_Qyi4ZWsIZA1E

B. Blood

C. Intestine

D. Adrenal glands

Answer: A

° Watch Video Solution

35. Proteins when heated with cone. HNQO; gives a yellow

colour. This Is

A. Oxidising test

B. Xanthoprotic test

C. Hoppe's test

D. Acid-base test


https://dl.doubtnut.com/l/_Qyi4ZWsIZA1E
https://dl.doubtnut.com/l/_f6IKp0G5f6YT

Answer: B

o Watch Video Solution

36. The metal present in blood is

A. Al

B. Mg

C.Cu

D. Fe

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_f6IKp0G5f6YT
https://dl.doubtnut.com/l/_CUpGPH7AgcDw

37. Which amino acids has an aromatic ring ?

A. Alamine

B. Glycine

C. Tyrosine

D. Lysine

Answer: C

o Watch Video Solution

38. Which is an essential constituent of a diet?

A. Starch

B. Glucose


https://dl.doubtnut.com/l/_YGzBUUUpQbNL
https://dl.doubtnut.com/l/_a620WYS0x5Fb

C. Carbohydrate

D. Protein

Answer: D

o Watch Video Solution

39. The functional group, which is found in amino acid is

A.—COOH group

B. — NH, group

C. —CHjs group

D. Both (a) and (b)

Answer: D

| &


https://dl.doubtnut.com/l/_a620WYS0x5Fb
https://dl.doubtnut.com/l/_oeuImPjxtaIF

[ W Watch Video Solution

40. The monomer unit of polyethene is:

A. Amino acid

B. Glucose

C. Nucleoside

D. Nucleotide

Answer: A

o Watch Video Solution

41. Which of the following is a protein

A. Pepsin


https://dl.doubtnut.com/l/_oeuImPjxtaIF
https://dl.doubtnut.com/l/_THVVOvSIdWyF
https://dl.doubtnut.com/l/_LwcbmkA4mSyw

B. Adrenaline

C. ATP

D. Glutamine

Answer: A

° Watch Video Solution

42. Which of the following tests is not used for testing

proteins :

A. Milion's test

B. Molisch's test

C. Biuret test

D. Ninhydrin test


https://dl.doubtnut.com/l/_LwcbmkA4mSyw
https://dl.doubtnut.com/l/_zqipkfR2L57P

Answer: B

o Watch Video Solution

43. Which of the following ions can cause coagulation of

protons ?

A.Na™
B.Ag™
C.Ca™™

D.Mg**

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_zqipkfR2L57P
https://dl.doubtnut.com/l/_pWP7OatkQ6uf
https://dl.doubtnut.com/l/_sz7SY94gxXp8

44, o — Helix is found in

A. DNA

B. RNA

C. Lipid

D. Protein

Answer: D

° Watch Video Solution

45. Identify the incorrect statement

A. An octa deca peptide contains 18 amino acid residues

and 17 peptid bonds


https://dl.doubtnut.com/l/_sz7SY94gxXp8
https://dl.doubtnut.com/l/_Fj1TmK54SqPc

B. Addition of an inert gas into a system in

thermodynamic equilibrium for the dissociation of

PClj shifts

Answer: D

° View Text Solution

46.The pH value of the solution in which a particular amino
acid does not migrate under the influence of electric field is

called the:

A. Eutectic point


https://dl.doubtnut.com/l/_Fj1TmK54SqPc
https://dl.doubtnut.com/l/_WxtVLQLfnc3r

B. Yielding

C. Neutralisation point

D. Effusion

Answer: D

° Watch Video Solution

47.The process by which protein synthesis takes place based

on genetic information is called

A. Translation

B. Transcription

C. Replication

D. Messenger hypothesis


https://dl.doubtnut.com/l/_WxtVLQLfnc3r
https://dl.doubtnut.com/l/_B6S2I6ZyHmJw

Answer: A

o Watch Video Solution

48. Which of the following is not essential amino acid

A. Valine

B. Lysine

C. Histidine

D. Glycine

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_B6S2I6ZyHmJw
https://dl.doubtnut.com/l/_rZdFRCrK3ECa

49, Denaturation of proteins

A. Disrupts the primary or secondry or tertiary structure

of protein

B. Disrupts the secondary and tertiary structure only

C.distrupts all the primary, secondary and tertiary and

even the quaternary structure of protein

D. Will not affect the original biological activity

Answer: D

° Watch Video Solution

50. An acidic amino acid among the following is


https://dl.doubtnut.com/l/_qHb13sYNaYLo
https://dl.doubtnut.com/l/_uDtVQCnz7BIh

A. Glycine

B. Valine

C. Proline

D. Leucine

Answer: D

o View Text Solution

51. Proteins contains

A.CHO and N

B.Only Cand H

C.CllHand O

D. All of these


https://dl.doubtnut.com/l/_uDtVQCnz7BIh
https://dl.doubtnut.com/l/_ZOCyDoI5DQGb

Answer: A

o Watch Video Solution

52. A codon has a sequence of A, and specific a particular B

that is to be incorporated into C. what are AB,C

A B C
" 3bases amino acid carbohydrate
5 A B C
3 acids carbohydrate protein
A B C
" 3bases protein amino acid
A B C
" 3bases amino acid protein
Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_ZOCyDoI5DQGb
https://dl.doubtnut.com/l/_Z4RufU74EFnT
https://dl.doubtnut.com/l/_BSxXKYmCfZ7P

53. Which part of the protein molecule is responsible for

function and activity of the proteins?

A. Secondary structure

B. Peptide bond

C. Primary structure

D. Binding sites

Answer: D

° Watch Video Solution

54. Which of the following elements is present in insulin

A. Na


https://dl.doubtnut.com/l/_BSxXKYmCfZ7P
https://dl.doubtnut.com/l/_rxqnepZPflyV

B.Zn

C.Li

D. None of these

Answer: B

o Watch Video Solution

55. The pK,; and pK,, of an amino acid are 23 and 9.7

respectively. The isoelectric point of the amino acid is:

A 12

B.74

C.6

D. 3.7


https://dl.doubtnut.com/l/_rxqnepZPflyV
https://dl.doubtnut.com/l/_QLdnFAjtz5ZC

Answer: C

o Watch Video Solution

56. Hydrolysis of proteins give

A. a-amino acid only

B. B-amino acids only

C. y-amino acids only

D. mixture of all i.e. a, 8 and y-amino acids

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_QLdnFAjtz5ZC
https://dl.doubtnut.com/l/_KlR1Rym4PPkg

57. Enzymes are

A. Living organisms

B. Dead organisms

C. Complex nitrogenous substances produced in living

cells

D. None of these

Answer: C

° Watch Video Solution

58. Pepsin enzyme hydrolyses

A. Proteins to amino acids


https://dl.doubtnut.com/l/_8BvUQVAlb3rS
https://dl.doubtnut.com/l/_kuLs8iZ7N3kG

B. Fats to fatty acids

C. Glucose to ethyl alcohol

D. Polysaccharides to monosaccharide

Answer: A

° Watch Video Solution

59. Which of the following is not a function of proteins?

A. Nails formation

B. Skin formation

C. Muscle formation

D. Providing energy for metabolism


https://dl.doubtnut.com/l/_kuLs8iZ7N3kG
https://dl.doubtnut.com/l/_aJ7Xj2G06yhw

Answer: D

o Watch Video Solution

60. The structural formula of an amino acid, isoleucine is

NH,

|
A.CH; — C H.COOH
B. s
c.[#®

D. s’

Answer: C

° View Text Solution



https://dl.doubtnut.com/l/_aJ7Xj2G06yhw
https://dl.doubtnut.com/l/_kAcvJbu1U3Bn

61. The main structural feature of proteins is:

A. The ester linkage

B. The ether linkage

C. The peptide linkage

D. All of these

Answer: C

o Watch Video Solution

62. Hair, finger,nails, hoofs, etc. are all made of:

A.lron

B. Fat


https://dl.doubtnut.com/l/_1xOS4GEMrUNd
https://dl.doubtnut.com/l/_Veln0JQav5lM

C. Vitamin

D. Protein

Answer: D

o Watch Video Solution

63. Which one of the following is amino acids

A. CH,CONH,

B.CH;CONHCHj,

C.CH;NHCO

D. NH,CH,. COOH

Answer: D

| &


https://dl.doubtnut.com/l/_Veln0JQav5lM
https://dl.doubtnut.com/l/_4pvdFf9IEf5n

[ W Watch Video Solution

64. The most Important energy carries for the cell reaction is

A. AMP

B. ATP

C. ADP

D. UDP

Answer: B

o Watch Video Solution

65. For o -amino acids

R — |C’H—C’02H
NH>

having

the

structure


https://dl.doubtnut.com/l/_4pvdFf9IEf5n
https://dl.doubtnut.com/l/_1XymaCAHK0YD
https://dl.doubtnut.com/l/_SUVDXjJinBSR

Which of the following statements are true
(A) Water solubility is maximum at a pH when concentration
of anion and cation are equal
(B)They give ninhydrin test
(C) On reacting with nitrous acid give off N,
A All
B.Band C

C.AandB

D.A

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_SUVDXjJinBSR

66. Which of the following statements about proteins is not
true
A. Amino acids residues join together to make a protein
molecule
B. Protein are polymers with formula(CgH1¢Os),,
C. Eggs are rich in protein

D. Pulses are good soruce of proteins

Answer: B

° Watch Video Solution

67. The example of a protein is


https://dl.doubtnut.com/l/_YpuoiaRKla89
https://dl.doubtnut.com/l/_4wIlDXwKZazk

A. Narvone

B. Lacithin

C. Cellulose

D. Insulin

Answer: D

° Watch Video Solution

68. Which of the following is used to build and repair body

tissues

A. Cane sugar

B. fructose

C. Protein


https://dl.doubtnut.com/l/_4wIlDXwKZazk
https://dl.doubtnut.com/l/_EAktWEHukEl2

D. Glucose

Answer: C

o Watch Video Solution

69. Metabolic function in human bodies is carried out by

A. Lipids

B. Peptides

C. Nucleic acids

D. Enzymes

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_EAktWEHukEl2
https://dl.doubtnut.com/l/_E5AZmKabwaBJ

70. Chlorophyll contains :

A. Fe

B. Na

C. Mg

D.Zn

Answer: C

o Watch Video Solution

71. Amino acids have peptide linkage which is

A —CO — NH —

B.—C — NH,


https://dl.doubtnut.com/l/_PF7cO6sy69FH
https://dl.doubtnut.com/l/_Ztkxb61DiFVA

C.5O0 — NH —

D.—CO — N —

Answer: A

° Watch Video Solution

72. Identify the correct statement regarding enzymes

A. Enzymes are specific biological catalysts that cannot be

poisioned

B. Enzymes are normally heterogenous catalyse that are

very specific in their action

C.Enzymes are specific biological catalysts that can

normally function at very high temperature (T ~ 1000


https://dl.doubtnut.com/l/_Ztkxb61DiFVA
https://dl.doubtnut.com/l/_C5e5h2uUjCTj

K)

D. Enzymes are specific biological catalysts that possess

well defined active sites

Answer: D

° Watch Video Solution

73.The Secondary structure of a proteins refers to ?

A. a-helical backbone

B. hydrophobic interactions

C. sequence of a-amino acids

D. Fixed configuration of the polypeptide backbone


https://dl.doubtnut.com/l/_C5e5h2uUjCTj
https://dl.doubtnut.com/l/_uwEtniZ9vJSr

Answer: D

o Watch Video Solution

74. Which one of the following statements is correct

A. All amino acids except lysine are optically active

B. All amino acids are optically active

C. All amino acids are except glycine are optically active

D.All amino acids except glutamic acids are optically

active

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_uwEtniZ9vJSr
https://dl.doubtnut.com/l/_UG2Tcps5eJPd

75. Which of the following set consists only of essential

amino acdis

A. Alanine, tyrosine, cystine

B. Leucine, lysine, tryptophan

C. Alanine, glutamine, lysine

D. Leucine, proline, glycine

Answer: B

o Watch Video Solution

76. Which compound can exist in a dipolar (zwitter ion) state


https://dl.doubtnut.com/l/_TuaEm0ioqsw8
https://dl.doubtnut.com/l/_h3d9k1lwliuZ

8. (CH;),CH. CH(NH),COOH
C. CsHsCONHCH,COOH

D. HOOC. CH,CH,COCOOH

Answer: B

° Watch Video Solution

77. The reaction involving breaking of complex compounds

into simpler ones is called

A. Catabolism

B. Anabolism

C. Fermentaiton

D. Metabolism


https://dl.doubtnut.com/l/_h3d9k1lwliuZ
https://dl.doubtnut.com/l/_7dG34br5nIsh

Answer: A

o Watch Video Solution

78. Callulose is not digestible by human beings due to the

absence of cellulose hydrolysing enzyme called

A. Cellulose

B. Zymase

C. Invertase

D. Ureas

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_7dG34br5nIsh
https://dl.doubtnut.com/l/_GNeZ5hlFZFnh
https://dl.doubtnut.com/l/_E1vsr1J5kb8Y

79. Pick out wrong combination

A.Fet? — haemoglobin
B. Mg?" — photosynthesis
C. Se’™ — Kreb cycle

D.Co*? — vitamin B-1,2

Answer: C

° Watch Video Solution

80. Which is the correct representation of peptide bond?


https://dl.doubtnut.com/l/_E1vsr1J5kb8Y
https://dl.doubtnut.com/l/_VnJahPP819Gn

o
||

B.-C — N —
|
H
OH
|
CH—-C —-N —

D. none of these

Answer: B

o Watch Video Solution

81. The molecular weight of protein is

A. < 10000

B. > 10000

C. > 1000

D. > 1000 and < 10000


https://dl.doubtnut.com/l/_VnJahPP819Gn
https://dl.doubtnut.com/l/_vyYxxJMLvQMA

Answer: B

o Watch Video Solution

82. Which of the following is not a classification of proteins

A. Enzymes

B. Antibodies

C. Antigens

D. Hormones

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_vyYxxJMLvQMA
https://dl.doubtnut.com/l/_6tJrQ1q5ajP6

8. The protein that is a structural material is

A. Albumin

B. Oxytocin

C. Haemoglobin

D. Keratin

Answer: D

o Watch Video Solution

84. Enzymes belong to which class of compounds?

A. Polysaccharides

B. Polypeptides


https://dl.doubtnut.com/l/_tHw0zqhzA9ut
https://dl.doubtnut.com/l/_f3fqHzxETjSN

C. Polynitrogen heterocyclic compound

D. Hydrocarbons

Answer: B

° Watch Video Solution

85. Which of the following enzymes is not useful in the

digestion of proteins

A. Chymotrypsin

B. Pepsin

C. Trypsin

D. Lipase


https://dl.doubtnut.com/l/_f3fqHzxETjSN
https://dl.doubtnut.com/l/_fpy0fIkCDIU5

Answer: D

° Watch Video Solution

86. Amino acids usually exist in the form of Zwitter ions. This

mean that they consist of

A. The basis group — NH, and the acidic group -COOH
B. The basic group — NH," and the acidic group —CO,
C. The basic group -CO, and the acidic group NH,"

D. No acidic or basic group

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_fpy0fIkCDIU5
https://dl.doubtnut.com/l/_n7NRcV2dDzP1
https://dl.doubtnut.com/l/_rndzcq0Wu20V

87. Test used to identify peptide linkage in protein is:

A. Borsche's test

B. Molisch's test

C. Ninhydrin test

D. Biuret test

Answer: D

° Watch Video Solution

88. A nonopeptide contains. .

A.10

B.8

........ peptide linkages.



https://dl.doubtnut.com/l/_rndzcq0Wu20V
https://dl.doubtnut.com/l/_nbnSiNtbsBmW

C.9

D. 18

Answer: B

o Watch Video Solution

89. An example of a sulphur containing amino acid is

A. Lysine

B. Serine

C. Cystine

D. Tyrosine

Answer: C

| &


https://dl.doubtnut.com/l/_nbnSiNtbsBmW
https://dl.doubtnut.com/l/_3QjCVnGf07XQ

[ W Watch Video Solution

90. At pH 4, glycine exists as
+
A .H;N — CH, — COO~
_|_
B.H3sN — CH, — COOH
C. H,N — CHy, — COOH

D.H,N — CHy — COO™

Answer: B

° Watch Video Solution

91. The number of disulphide linkage present in insulin are

A3


https://dl.doubtnut.com/l/_3QjCVnGf07XQ
https://dl.doubtnut.com/l/_uTACclA4KhNI
https://dl.doubtnut.com/l/_AyHROsEzxDNU

B.4

C.1

D. 2

Answer: D

° Watch Video Solution

92. There are 20 naturally occuring amino acids. The

maximum number of tripeptides that can be obtained is

A. 6470

B. 7465

C. 5360

D. 8000


https://dl.doubtnut.com/l/_AyHROsEzxDNU
https://dl.doubtnut.com/l/_KLdG1V9LUyu6

Answer: D

o Watch Video Solution

93. The tripeptide is written as Glycine-Alanine-Glycine. The

correct structure of the tripeptide is

A7

B. Lo

c.=

D. s

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_KLdG1V9LUyu6
https://dl.doubtnut.com/l/_SvVLgyFErKiS
https://dl.doubtnut.com/l/_ayY01rGRaEKG

94. The correct structure of the dipeptide gly-ala is

A Ll

CH, (0

| I
B.NH, - C — NH - CH, - C — OH

]

H O

H o H o
CHN-C-C-N-CH-C-OH
i on,
H 0 H O
D.H—N—}J—H—NH— |C —g’—OH
" o

Answer: C

° Watch Video Solution

95. Which of the following is a globular protein?

A. Keratin


https://dl.doubtnut.com/l/_ayY01rGRaEKG
https://dl.doubtnut.com/l/_MK6EiJEY6TBA

B. Insulin

C. Collagan

D. Myoglobin

Answer: D

o Watch Video Solution

96. Which amino acid has imidazole ring

A. alanine

B. Leucine

C. Tyrosine

D. Histidine


https://dl.doubtnut.com/l/_MK6EiJEY6TBA
https://dl.doubtnut.com/l/_Nrw0cRPnI4xK

Answer: D

o Watch Video Solution

97.Sanger's reagent is used for the identification of:

A. C-terminal amino acid a peptide chain

B. N-terminal amino acid of peptide chain

C. Molecular mass of protein

D. Secondary structure of Protein

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Nrw0cRPnI4xK
https://dl.doubtnut.com/l/_Iz9HI392bU6C

98. Simplest amino acid is

A. Alanine

B. Lysine

C. Histidine

D. Glycine

Answer: D

o Watch Video Solution

99. Out of the following the best category of proteins is

A. polyamides

B. Polythioethers


https://dl.doubtnut.com/l/_lUdYz9p1egum
https://dl.doubtnut.com/l/_IbuYHri612ke

C. Glycerides

D. Polysaccharides

Answer: A

° Watch Video Solution

100. Which of the following com bines with haemoglobin of

the blood to form carboxyhaemoglobin?

A.CO

B. CO,

C. HCOOH

D. H,COs


https://dl.doubtnut.com/l/_IbuYHri612ke
https://dl.doubtnut.com/l/_gy1pjPQHWd2H

Answer: A

o Watch Video Solution

101. Which of the following amino acid is neutral?

A. Glycine

B. Aspartic acid

C.Lysine

D. Arginine

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_gy1pjPQHWd2H
https://dl.doubtnut.com/l/_GYEDr5YyKzPj

102. Name a protein which is insoluble in water.

A. Fibrous proteins

B. Globular proteins

C. both (a) and (b)

D. None of these

Answer: A

o Watch Video Solution

103. Irreversible precipitation of proteins is called

A. Denaturation

B. Hydrolysis


https://dl.doubtnut.com/l/_ZFjkqq1hA1Bl
https://dl.doubtnut.com/l/_gYXMrtwDZdqd

C. Rearrangement

D. Electrophoresis

Answer: A

° Watch Video Solution

104. The proteins with a prosthetic group are called

A. Pseudo

B. complex proteins

C. Conjugated proteins

D. Polypeptides

Answer: C

| &


https://dl.doubtnut.com/l/_gYXMrtwDZdqd
https://dl.doubtnut.com/l/_DrAofEed3Ks9

[ W Watch Video Solution

105. The prosthetic group of haemoglobin is

A. Porphin

B. Haem

C. Globin

D. Globulin

Answer: B

o Watch Video Solution

106. Amino acids are

A. Liquids


https://dl.doubtnut.com/l/_DrAofEed3Ks9
https://dl.doubtnut.com/l/_kvbfLgYLsGb8
https://dl.doubtnut.com/l/_Oot5kbG9eEy3

B. Volatile solids

C. Non-volatile crystalline compounds

D. Mixture of amines and acids

Answer: C

° Watch Video Solution

107. Isoelectric point is a

A. Specific temperature

B. Suitable concentration of amino acid

C.Hydrogen ion concentration that does not allow

migration of amino acid under electric field


https://dl.doubtnut.com/l/_Oot5kbG9eEy3
https://dl.doubtnut.com/l/_kUdh4OwzhS0A

D. Mp of an amino acid under the influence of electric

field

Answer: C

o Watch Video Solution

108. pH in stomacth is approximately

A7

B.2

C.6.5

D.10

Answer: B

s~ 0000 ]


https://dl.doubtnut.com/l/_kUdh4OwzhS0A
https://dl.doubtnut.com/l/_pgBg2SDZxVfV

[ W Watch Video Solution

109. Read the following statements carefully
(A) Albumin is a simple protein
(B) The amino acid alanine contains an acidic side chain
(C) Insulin is a hormone
(C) Muscles contain the protein keratin
A.AB
B.C,D

C.AC

D.B,D

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_pgBg2SDZxVfV
https://dl.doubtnut.com/l/_QwTpoh5WF9WW

110. Assertion : Glycine is amphoteric in nature .

Reason: Glycine contain both acid and basis group.

A. If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. If both assertion and reason are true but reason is not

the corret explanation of the assertion.

C. If assertion is true but reason is false.

D. If the assertion and the reason both are false.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_BUtUtjT8WVfn

111. Assertion: Proteins on hydrolysis produce amino acids.

Reason : Amino acids contain NH, and -COOH groups

A. If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. If both assertion and reason are true but reason is not

the corret explanation of the assertion.

C. If assertion is true but reason is false.

D. If the assertion and the reason both are false.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_AgSESEbXXqqr

112. Assertion: All amino acids exists as Zwitter ions.

Reason: Amino acids have both — NHy and — COOH group

A. If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. If both assertion and reason are true but reason is not

the corret explanation of the assertion.

C. If assertion is true but reason is false.

D. If the assertion and the reason both are false.

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_aruWq4qvjUhw

113. Assertion : Haemoglobin is an oxygen carrier.

Reason : Oxygen binds as O to F'e of haemoglobin.

A. If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. If both assertion and reason are true but reason is not

the corret explanation of the assertion.

C. If assertion is true but reason is false.

D. If the assertion and the reason both are false.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_1Kvjte42c5zN

114. Assertion: Disruption of the natural structural of a

protein is called denaturation.

Reason: The change in colour and apperance of egg during

cooking is due to denaturation.

A. If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. If both assertion and reason are true but reason is not

the corret explanation of the assertion.

C. If assertion is true but reason is false.

D. If the assertion and the reason both are false.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_OXnQHZtc1M8V

115. Assertion: Valine is an essential amino acids

Reason: The lack of essential amino acids in the diet causes

Kwashiorkor.

A. If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. If both assertion and reason are true but reason is not

the corret explanation of the assertion.

C. If assertion is true but reason is false.

D. If the assertion and the reason both are false.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_de9Uuw7QHHuB
https://dl.doubtnut.com/l/_szWv83IJQSWz

116. Assertion: Solubilities of proteins is minimum at the

isoelectronic point.

Reason: At isoelectronic point , protein molecules behaves as

a zwitter ion.

A. If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. If both assertion and reason are true but reason is not

the corret explanation of the assertion.

C. If assertion is true but reason is false.

D. If the assertion and the reason both are false.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_szWv83IJQSWz
https://dl.doubtnut.com/l/_1XyETCBzOwWS

117. Assertion : Amino acids are soluble in benzene and ether

Reason: Amino acids does not exist as zwitter ion.

A. If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. If both assertion and reason are true but reason is not

the corret explanation of the assertion.

C. If assertion is true but reason is false.

D. If the assertion and the reason both are false.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_1XyETCBzOwWS

118. Assertion: a-amino acids exist as dipolar ions or zwitter

ion.

Reason: a-amino acids are the building blocks of proteins.

A. If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. If both assertion and reason are true but reason is not

the corret explanation of the assertion.

C. If assertion is true but reason is false.

D. If the assertion and the reason both are false.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_WDWBdK0DK42l
https://dl.doubtnut.com/l/_FKkxW4pcX5Vk

119. Which of the following statement is not correct

A. Ovalbumin is a simple food reserve in egg-white

B. Blood proteins thrombin and fibrinogen are involved in

blood clotting

C. Denaturation makes the proteins more active

D. Insulin maintains sugar level in the blood of a human

body

Answer: C

° Watch Video Solution

120. The difference between amylose and amylopectin is


https://dl.doubtnut.com/l/_FKkxW4pcX5Vk
https://dl.doubtnut.com/l/_QiWD0YmaCZ7T

A. Amylopectin have 1 — 4a -linkage and 1 — 6a-linkage

B. Amylose have 1 — 4a-linkage and 1 — 6/-linkage

C. Amylopecting have 1 — 4a-linkage and 1 — 604-

linkage

D. Amylose is made up of glucose and galactose

Answer: A

o Watch Video Solution

121. Which of the following compounds can form a Zwitter

ion ?

A. Aniline

B. Acetanilide


https://dl.doubtnut.com/l/_QiWD0YmaCZ7T
https://dl.doubtnut.com/l/_VuTX7RZQhwC3

C. Benzoic acid

D. glycine

Answer: D

o Watch Video Solution

Ordinary Thinking Fats And Lipids

1. Phospholipids are esters of glycerol with

A. Three phosphate groups

B. Three carboxylic acid residues

C. Two carboxylic acid residues and one phosphate group

D. One carboxylic acid residues and two phophate groups


https://dl.doubtnut.com/l/_VuTX7RZQhwC3
https://dl.doubtnut.com/l/_ajHcBHnqBiHy

Answer: C

o Watch Video Solution

2. Which is not a macromolecule?

A. DNA

B. Starch

C. Palmitate

D. Insulin

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ajHcBHnqBiHy
https://dl.doubtnut.com/l/_7YK1knGz8lBI

3. The waxes are long chain compounds of fatty acids, which

belong to the class of

A. Esters

B. Ethers

C. Alcohols

D. Acetic acid

Answer: A

° Watch Video Solution

4. Which of the following gives maximum energy in metabolic

process?


https://dl.doubtnut.com/l/_6QNqHzUpaGNX
https://dl.doubtnut.com/l/_LH7q9ioZm61w

A. Proteins

B. Carbohydrates

C. Lipids

D. Vitamins

Answer: C

o Watch Video Solution

5.The energy change produced by the combustion of food is

caled 'calorific value'The highest calorific value is given by

A. Proteins

B. Fats

C. Carbohydrates


https://dl.doubtnut.com/l/_LH7q9ioZm61w
https://dl.doubtnut.com/l/_NAQVWJpyAghY

D. Vitamins

Answer: B

o Watch Video Solution

6. Which of the following compounds donot belong to the
lipids

A. Fats

B. Amino Acids

C. Phosphlipids

D. Carbohydrates

Answer: B::D

| o Wakl.\tdaa AL .&lam



https://dl.doubtnut.com/l/_NAQVWJpyAghY
https://dl.doubtnut.com/l/_OKjlcGrUdSfw

L —vvdtilll VIUCU JUIUVLIVII

7. A distinctive and characteristic functional group of fat is

A. An ester group

B. An peptide group

C. A ketonic group

D. An alcholic group

Answer: A

o Watch Video Solution

8. Oleic, stearic, palmitic acids are

A. Fatty acids


https://dl.doubtnut.com/l/_OKjlcGrUdSfw
https://dl.doubtnut.com/l/_xjMXS5ArPWKj
https://dl.doubtnut.com/l/_m1QLqgOzFkuF

B. Amino acids

C. Nucleic acids

D. Essential acid

Answer: A

o Watch Video Solution

9. Hydrolytic reaction of fats with caustic soda is known

as

A. Acetylation

B. Carboxylation

C. Saponification

D. Esterification


https://dl.doubtnut.com/l/_m1QLqgOzFkuF
https://dl.doubtnut.com/l/_p6Lvv21qKRve

Answer: C

o Watch Video Solution

10. In the following which is not glyceride

A. Fats

B. Oils

C. Phospholipids

D. Soaps

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_p6Lvv21qKRve
https://dl.doubtnut.com/l/_eTIf56VbaqjW

11. The most important food reserves of animals and plants

are

A. Carbohydrates

B. Proteins

C. Vitamins

D. Fats

Answer: D

o Watch Video Solution

12. lodine value is related to

A. Fats and oils


https://dl.doubtnut.com/l/_hXIhBN2GJO1Z
https://dl.doubtnut.com/l/_HYXYVxvrVmbe

B. Alcohols

C. Esters

D. Hydrocarbons

Answer: A

o Watch Video Solution

13. Oils and fats are jointly called

A. Lipids

B. Soaps

C. Proteins

D. Polymers


https://dl.doubtnut.com/l/_HYXYVxvrVmbe
https://dl.doubtnut.com/l/_s5qLQCRkffJ8

Answer: A

o Watch Video Solution

14. An example of a lipid is

A. Lard

B. Keratin

C. Glutathione

D. Oxytocin

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_s5qLQCRkffJ8
https://dl.doubtnut.com/l/_updbFRz8E5qa

15. Fat consists of

A. Monohydroxy carboxylic acid

B. Monohydroxy aliphatic carboxylic acid

C. Monohydroxy aliphatic, saturated carboxylic acid

D. Dihydroxy aliphatic carboxylic acid

Answer: C

o Watch Video Solution

16. An example for a saturated fatty acid , present in nature is

A. Oleic acid

B. Linoleic acid


https://dl.doubtnut.com/l/_cmf7UKMXnwDU
https://dl.doubtnut.com/l/_pK1XS8eisAAB

C. Linolenic acid

D. Palmitic acid

Answer: D

° Watch Video Solution

17. Acrolein test is positive for

A. Polysaccharides

B. Proteins

C. Oils and fats

D. Reducing sugars

Answer: C

| &


https://dl.doubtnut.com/l/_pK1XS8eisAAB
https://dl.doubtnut.com/l/_LFuQeHtBljXF

[ W Watch Video Solution

18. Tripalmitin is

A. A protein

B. An enzyme

C.Alipid

D. A carbohydrate

Answer: C

o Watch Video Solution

19. On hydrolusis, all lipids yield

A. Monocarboxylic acids


https://dl.doubtnut.com/l/_LFuQeHtBljXF
https://dl.doubtnut.com/l/_C0unU8pX4oh7
https://dl.doubtnut.com/l/_PuJnkiWtKpfP

B. Monohydric alcohols

C. Monohaloalkanes

D. Enzymes

Answer: A

° Watch Video Solution

20. The 'acid value' of an oil or fat is measured in terms of

weight of

A NH,OH

B. NaOH

C. KOH

D. CH;COOH


https://dl.doubtnut.com/l/_PuJnkiWtKpfP
https://dl.doubtnut.com/l/_bQb1O7qVmMbG

Answer: C

o Watch Video Solution

21. The "saponification value " of an oil or fat is measured in

term of

A NH,OH

B. NaOH

C. KOH

D. CsH;OH

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_bQb1O7qVmMbG
https://dl.doubtnut.com/l/_5PMikzd7mqox
https://dl.doubtnut.com/l/_S9UxntVG9ESu

22.The 'iodine value' of oil indicates

A. Its boiling point

B. Inflammability

C. Unsaturation present in acid contains

D. Solubility of salt in oils

Answer: C

° Watch Video Solution

23. Hardening of oils is caused by

A H,

B. N,


https://dl.doubtnut.com/l/_S9UxntVG9ESu
https://dl.doubtnut.com/l/_0t95Omgu2FOj

C. Oy

D.CO,

Answer: A

o Watch Video Solution

24. Which of the following is obtained when an oil is

hydrolysed with alkali

A. Fat

B. Wax

C. Soap

D. Vitamin


https://dl.doubtnut.com/l/_0t95Omgu2FOj
https://dl.doubtnut.com/l/_AY23fEiEQCLK

Answer: C

o Watch Video Solution

25. Which of the following indicates the number of free -OH

groups in an oil or fat

A. lodine value

B. Acid value

C. Acetyl value

D. Saponification value

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_AY23fEiEQCLK
https://dl.doubtnut.com/l/_Z6jRnK2AL2US
https://dl.doubtnut.com/l/_WinKiKEixqNC

26. Cell membrane contains

A. Alternate layers of phospholipid and coline

B. Double layers of phospholipid

C.Double layers of phospholipid with polar ends

projected outside

D.Double layers of phospholipid with polar ends

projected inside

Answer: B

° Watch Video Solution

27. Assertion. Carboxypetidase is an exopeptidase.

Reason. It cleaves the N-terminal bond.


https://dl.doubtnut.com/l/_WinKiKEixqNC
https://dl.doubtnut.com/l/_wE7zb1oONsDG

A. If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. If both assertion and reason are true but reason is not

the corret explanation of the assertion.

C. If assertion is true but reason is false.

D. If the assertion and the reason both are false.

Answer: C

o Watch Video Solution

Ordinary Thinking Vitamins Hormones And Nucleic Acid

1. The pairs of bases in DNA are held together by


https://dl.doubtnut.com/l/_wE7zb1oONsDG
https://dl.doubtnut.com/l/_xg42EmzFdPyg

A. Hydrogen bonds

B. lonic bonds

C. Phosphate groups

D. Deoxyribose groups

Answer: A

° Watch Video Solution

2.In DNA, the complementary bases are :

A. Uracil and adenine, cytosine and guanine

B. Adenine and thymine, guanine and cytosine

C. Adenine and thymine, guanine and uracil

D. Adenin and guanine, thymine and cytosine


https://dl.doubtnut.com/l/_xg42EmzFdPyg
https://dl.doubtnut.com/l/_DzwuGp3rAnDf

Answer: B

o Watch Video Solution

3. The reason for double helical structure of DN A is the

operation of:

A. Vander Waal's forces

B. Dipole-dipole interaction

C. Hydrogen bonding

D. Electrostatic attractions

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_DzwuGp3rAnDf
https://dl.doubtnut.com/l/_0ioSHCvdEvLU
https://dl.doubtnut.com/l/_OI3KX4Yk3IhM

4. The hormone that helps in the conversion of glucose into

glycogen is:

A. Adrenaline

B. Insulin

C. Cortisone

D. Bile acids

Answer: B

o Watch Video Solution

5. The human body does not produce.

A. Homones


https://dl.doubtnut.com/l/_OI3KX4Yk3IhM
https://dl.doubtnut.com/l/_c152XWrLeMvB

B. Enzymes

C. DNA

D. Vitamins

Answer: D

° Watch Video Solution

6. RNA and DNA are chiral molecules, their chirality is due to

A. L- sugar component

B. Chiral bases

C. Chiral phosphate ester units

D. D- sugar Component


https://dl.doubtnut.com/l/_c152XWrLeMvB
https://dl.doubtnut.com/l/_LHxSMSKAX9DO

Answer: D

o Watch Video Solution

7. Which one of the following vitamins is water-soluble?

A.Vitamin B

B. Vitamin E

C.Vitamin K

D. Vitamin A

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_LHxSMSKAX9DO
https://dl.doubtnut.com/l/_4F7cw2LP6kky

8. Which of the following is an amine hormone ?

A. Insulin

B. Progesterone

C. Thyroxin

D. Oxypurin

Answer: C

o Watch Video Solution

9. The segment of DNA which acts as the instrumental

manual for the synthesis of the protein is:

A. Nucleoside


https://dl.doubtnut.com/l/_rQtQVbbpr4VI
https://dl.doubtnut.com/l/_YOnLoAdyPW0z

B. Nucleotide

C. Ribose

D. Gene

Answer: D

o Watch Video Solution

10. Which of the following hormones contains iodine ?

A. Insulin

B. Testosterone

C. Adrenalin

D. Thyroxin


https://dl.doubtnut.com/l/_YOnLoAdyPW0z
https://dl.doubtnut.com/l/_h5M5mHhymTeC

Answer: D

o Watch Video Solution

11. Which of the following is not a fat soluble vitamin ?

A.Vitamin E

B. Vitamin A

C. Vitamin B complex

D. Vitamin D

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_h5M5mHhymTeC
https://dl.doubtnut.com/l/_YUCyCSk5gGvU

12. Deficiency of vitamin B; causes the disease :

A. Beri- beri

B. Scurvy

C. Rickets

D. Anaemia

Answer: A

o Watch Video Solution

13. Which of the following hormones is produced under the
conditions of stress which stimulate glycogenolysis in the

liver of human beings ?


https://dl.doubtnut.com/l/_L1g879UstsKH
https://dl.doubtnut.com/l/_ZgI0j8HtK7Gw

A. Adrenaline

B. Estradiol

C. Thyroxine

D. Insulin

Answer: A

O Watch Video Solution

14. In nucleic acids, the sequence is

A. Base-phosphate-sugar

B. Phosphate-base-sugar

C. Sugar-base-phosphate

D. Base-sugar-phosphate


https://dl.doubtnut.com/l/_ZgI0j8HtK7Gw
https://dl.doubtnut.com/l/_Nr2ED3GfYpXy

Answer: D

o Watch Video Solution

15. Acquired immunodeficiency syndrome (AIDS) is

A. Killer T-cells

B. Reduction in number of helper T-shells

C. An autoimmune disease

D. Inability of body to produce interferons

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Nr2ED3GfYpXy
https://dl.doubtnut.com/l/_quuNksHoDPb5

16. Thymine is

A. 5-methyluracil

B. 4- methyluracil

C. 3-methyluracil

D. 1-methyluracil

Answer: A

o Watch Video Solution

17. The pair in which both the species have iron is:

A. Nitrogenase, cytochromes

B. Carboxypeptidase, haemoglobin


https://dl.doubtnut.com/l/_TEm9rw5xT6KE
https://dl.doubtnut.com/l/_9XDllPsUD6ki

C. Haemoglobin, nitrogenase

D. Haemoglobin, cytochromes

Answer: D

° Watch Video Solution

18. The first Hormone chemically synthesised in the

laboratory is

A. Cortisone

B. Insulin

C. Adrenaline

D. Estrone


https://dl.doubtnut.com/l/_9XDllPsUD6ki
https://dl.doubtnut.com/l/_0t5EbZ2an6VE

Answer: B

o Watch Video Solution

19. The deficiency of vitamin C' casuse:

A. Scurvy

B. Rickets

C. Phrrohea

D. Pernicious Anaemia

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_0t5EbZ2an6VE
https://dl.doubtnut.com/l/_GyGJiWjvp0on

20. The structure of DNA is

A. Linear

B. Single helix

C. Double helix

D. Triple helix

Answer: C

o Watch Video Solution

21. Which of the following is not true about vitamins

A. They are viral for life

B. They help in degestion


https://dl.doubtnut.com/l/_EGlE3amrqn1b
https://dl.doubtnut.com/l/_cH4YQFPHWGTu

C. They were named by "Funic"

D. Their deficiency causes diseases

Answer: B

° Watch Video Solution

22.Blood calcium is increased by administration of

A. Glucogon

B. Calcitonin

C. Thyroxine

D. Parathormone

Answer: D

| &


https://dl.doubtnut.com/l/_cH4YQFPHWGTu
https://dl.doubtnut.com/l/_aRlYNUxKYwcB

[ W Watch Video Solution

23. The best source of vitamin A is :

A. Beans

B. Pulses

C. Orange

D. Carrot

Answer: D

o Watch Video Solution

24.The base present in DNA, but not in RNAis

A. Guanine


https://dl.doubtnut.com/l/_aRlYNUxKYwcB
https://dl.doubtnut.com/l/_E47UnVkrqL0B
https://dl.doubtnut.com/l/_1R4DjJrXk3tr

B. Adenine

C. Uracil

D. Thymine

Answer: D

o Watch Video Solution

25. Ascorbic acid is .

A. VITAMIN

B. OIL

C. Protein

D. Carbohydrate


https://dl.doubtnut.com/l/_1R4DjJrXk3tr
https://dl.doubtnut.com/l/_W1PKImNFLpvh

Answer: A

o Watch Video Solution

26. An alteration in the base sequence of nucleic acid

molecule is:

A. Replication

B. Mutation

C. Duplication

D. Dislocation

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_W1PKImNFLpvh
https://dl.doubtnut.com/l/_IuUVQeKpRhk9
https://dl.doubtnut.com/l/_PthJVoTUbp67

27. Biotin is an organic compound present in yeast. Its

deficiency in diet causes dermatitis and paralysis. It is also

known as:

A.Vitamin H

B. Vitamin By

C.Vitamin By,

D. Vitamin D

Answer: A

° Watch Video Solution

28. Which one of the following is a non- steroidal hormone


https://dl.doubtnut.com/l/_PthJVoTUbp67
https://dl.doubtnut.com/l/_tX9tXPAU4Fh8

A. Estradiol

B. Prostaglandin

C. Progesterone

D. Estrone

Answer: B

° Watch Video Solution

29. If one strand of DNA has the sequence ATGCTTGA, the

sequence in the complimentary strand would be

A. TCCGAACT

B. TACGTAGT

C. TACGAACT


https://dl.doubtnut.com/l/_tX9tXPAU4Fh8
https://dl.doubtnut.com/l/_WL1FWANdp2kQ

D. TAGCTAGT

Answer: C

o Watch Video Solution

30. RNA is different from DNA because RNA contains

A. Ribose sugar and thymine

B. Ribose sugar and uracil

C. Deoxyribose sugar and thymine

D. Deoxyribose sugar and uracil

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_WL1FWANdp2kQ
https://dl.doubtnut.com/l/_zxncwAy5ZmnW

31. The vitamin that is not soluble in water is

A.Vitamin B;

B. Vitamin B,

C.Vitamin By

D. Vitamin D

Answer: D

o Watch Video Solution

32. Anaemia is caused by the deficiency of vitamin

A. By

B. B,


https://dl.doubtnut.com/l/_etvHF2uT109o
https://dl.doubtnut.com/l/_WbMGmlpa1YNC

C. B,

D. 312

Answer: D

o Watch Video Solution

33. The transfer RNA anticodon for the messenger RNA

codon G-C-Ais

A. C-G-U

B. G-C-U

C. U-G-C

D. G-U-C


https://dl.doubtnut.com/l/_WbMGmlpa1YNC
https://dl.doubtnut.com/l/_6I3DONzYWcbw

Answer: A

o Watch Video Solution

34.The bass adenine occurs in

A. DNA only

B. RNA only

C. DNA and RNA both

D. Protein

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_6I3DONzYWcbw
https://dl.doubtnut.com/l/_R8kZu0e7RvGA

35. Which base is not present in nucleic acids?

A. Cytosine

B. Adenine

C. Thymine

D. Guanidine

Answer: D

o Watch Video Solution

36. Which of the following is not present in nucleic acids

A. Uracil

B. 2- aminopyridine


https://dl.doubtnut.com/l/_2FBFvn6aCFDp
https://dl.doubtnut.com/l/_dVk0iPBqSs54

C. Thymine

D. Adenine

Answer: B

o Watch Video Solution

37.Vitamin Bj is:

A. Riboflavin

B. Cobalamin

C. Thiamine

D. Pyriodoxine

Answer: C

| &


https://dl.doubtnut.com/l/_dVk0iPBqSs54
https://dl.doubtnut.com/l/_YbIU5Jlx7yO9

[ W Watch Video Solution

38. DNA contains the sugar

A. Deoxyribose

B. Ribose

C. D- fructose

D. D- glucose

Answer: A

o Watch Video Solution

39. Which of the following is not a sex hormone?

A. Testosterone


https://dl.doubtnut.com/l/_YbIU5Jlx7yO9
https://dl.doubtnut.com/l/_v6jmqya0YKbT
https://dl.doubtnut.com/l/_7YXovux6KoVN

B. Estrone

C. Estradiol

D. Cortisone

Answer: D

° Watch Video Solution

40. Mutation of DNA occurs due to changes in the sequence

of one of the following

A. Bases

B. Ribose units

C. Phosphate units

D. Sugar units


https://dl.doubtnut.com/l/_7YXovux6KoVN
https://dl.doubtnut.com/l/_hIyDh5SRHm7C

Answer: A

o Watch Video Solution

41. Nucleic acid are polymers of

A. Nucleosides

B. a- amino acids

C. Nucleotides

D. Glucose

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_hIyDh5SRHm7C
https://dl.doubtnut.com/l/_7kLHLIVoVopr

42.Vitamin Ais present in

A. Cod liver oil

B. Carrot

C. Milk

D. In all of these

Answer: D

° Watch Video Solution

43. Which of the following is not a constituent of RNA

A. Ribose

B. Phosphate


https://dl.doubtnut.com/l/_6LWApLI0SztA
https://dl.doubtnut.com/l/_qoCitKksnTZ4

C. Adenine

D. Phyridine

Answer: D

o Watch Video Solution

44. Deficiency of which vitamin causes rickets

A.Vitamin- D

B. Vitamin -B

C.Vitamin- A

D. Vitamin- K

Answer: A

| &


https://dl.doubtnut.com/l/_qoCitKksnTZ4
https://dl.doubtnut.com/l/_ZjXx8pKi8iVc

[ W Watch Video Solution ]

45, Purine derivative among the following bases is

A. Guanine

B. Cytosine

C. Thymine

D. Uracil

Answer: A

o Watch Video Solution

46. Insulin production and its action in human body are

responsible for the level of diabetes. This compound belongs


https://dl.doubtnut.com/l/_ZjXx8pKi8iVc
https://dl.doubtnut.com/l/_Yo1BSTkH9SBG
https://dl.doubtnut.com/l/_DgwdrF97PLfL

to which of the following catefories:

A. An enzyme

B. Ahormone

C. A co-enzyme

D. An antibiotic

Answer: B

O Watch Video Solution

47. In both DNA and RNA, the heterocyclic base and

phosphate ester linkages are at:

A.C'5 and C'y respectively of the sugar molecule

B.C's and C'’5 respectively of the sugar molecule


https://dl.doubtnut.com/l/_DgwdrF97PLfL
https://dl.doubtnut.com/l/_VZxqg6sbAp67

C.C"; and C'’5 respectively of the sugar molecule

D.C’5 and C'; respectively of the sugar molecule

Answer: C

° Watch Video Solution

48.The pyrimidine bases present in DN A are:

A. Cytosine and adenine

B. Cytosine and guanine

C. Cytosine and thymine

D. Cytosine and uracil

Answer: C

| &


https://dl.doubtnut.com/l/_VZxqg6sbAp67
https://dl.doubtnut.com/l/_XKrogudySQAu

[ W Watch Video Solution ]

49. The presence or absence of hydroxy group on which

carbon atom of sugar differentiates RNA and DN A.

A. 1%

c. 3

D. 4th

Answer: B

° Watch Video Solution

50. Codon is present in


https://dl.doubtnut.com/l/_XKrogudySQAu
https://dl.doubtnut.com/l/_H6AHtLLMvwj0
https://dl.doubtnut.com/l/_3WtLR4SGCpGJ

A. t- RNA

B. m- RNA

C.r-RNA

D. All of these

Answer: B

o Watch Video Solution

51. The chemical name of vitamin C is

A. Ascorbic acis

B. Folic acid

C. Nicotinic acid

D. Tartaric acid


https://dl.doubtnut.com/l/_3WtLR4SGCpGJ
https://dl.doubtnut.com/l/_PvuFDgoeXCUC

Answer: A

o Watch Video Solution

52.The function of DNA in an organism is

A. To assit in the synthesis of RNA molecule

B. To store information of heredity characteristics

C. To assist in the synthesis of proteins and polypeptides

D. All of these

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_PvuFDgoeXCUC
https://dl.doubtnut.com/l/_Lv2vwc164eQl

53.Vitamin By is known as

A. Pyridoxin

B. Thiamine

C. Tocopherol

D. Riboflavin

Answer: A

o Watch Video Solution

54.The double helical structure of DNA was proposed by

A. Watson and Crick

B. Meicher


https://dl.doubtnut.com/l/_b159QmVEpzoi
https://dl.doubtnut.com/l/_TV03aA3AnHIX

C. Emil Fischer

D. Khorana

Answer: A

o Watch Video Solution

55.The tripeptide Hormone present in most living cells is...

A. Glutathione

B. Glutamine

C. Oxytocin

D. Ptyalin

Answer: A

| &


https://dl.doubtnut.com/l/_TV03aA3AnHIX
https://dl.doubtnut.com/l/_7145b7qqlnYC

[ W Watch Video Solution

56. A nucleoside on hydrolysis gives

A. A heterocyclic base and orthophosphoric acid

B.An  aldopentose, a heterocyclic base

orthophosphpric acid

C. An aldepentose and a heterocyclic base

D. An aldepentose and orthophosphoric acid

Answer: C

and

o Watch Video Solution

57. Which of the following is not present in nucleotide?


https://dl.doubtnut.com/l/_7145b7qqlnYC
https://dl.doubtnut.com/l/_huUlILFL2KbG
https://dl.doubtnut.com/l/_TFMFBqC1fs9N

A. Cytosine

B. Guanine

C. Adenine

D. Tyrosine

Answer: D

° Watch Video Solution

58. Which of the following biomolecules contains non-
transition metal ion ?

A.Vitamin B12

B. Chlorophyll

C. Haemoglobin


https://dl.doubtnut.com/l/_TFMFBqC1fs9N
https://dl.doubtnut.com/l/_zCDT4zSOjiPi

D. Insulin

Answer: B

° Watch Video Solution

59. Which of the following statements is not correct ?

A. Allergic conditions are cured by anti-histamines

B. Hormones are continuously produced but not stored in

the body

C. The function of the white blood cells is to protect the

body against infection

D. Catabolism involves degradation of molecules


https://dl.doubtnut.com/l/_zCDT4zSOjiPi
https://dl.doubtnut.com/l/_DEKuOcleH3Ag

Answer: B

o Watch Video Solution

60. Which of the following vitamins has isoprene units in its

structure

A.Vitamin A

B. Vitamin C

C.Vitamin B,

D. Vitamin D

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_DEKuOcleH3Ag
https://dl.doubtnut.com/l/_Q4FJCAttxIjv
https://dl.doubtnut.com/l/_tqfHPTzesMzE

61. Which of the following statements about the assembly of

nucleotides in a molecule of deoxyribonucleic acid is correct?

A.A pentose of one unit connects to a pentose of

another

B. A pentose of one unit connects to the base of another

C.A phosphate of one unit connects to a pentose of

another

D.A phosphate of one unit connects to the base of

another

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_tqfHPTzesMzE
https://dl.doubtnut.com/l/_SXGjWNkrzH9o

62. Deficiency of Vitamin H causes

A. Skin diseases

B. Scurvy

C. Burning of eyes

D. Anaemia

Answer: A

° Watch Video Solution

63. Which vitamin is not obtained from plants

A. Thiamine

B. Cyanocobalamine


https://dl.doubtnut.com/l/_SXGjWNkrzH9o
https://dl.doubtnut.com/l/_mbsvBPqfidmr

C. Pyriodoxine

D. a- Tocopherol

Answer: B

° Watch Video Solution

64. Which one is found in ATP ribonucleotide

A. Guanine

B. Uracil

C. Adenine

D. None of these

Answer: C

| &


https://dl.doubtnut.com/l/_mbsvBPqfidmr
https://dl.doubtnut.com/l/_0QK1mfYDzQmR

[ W Watch Video Solution ]

65. Which of the following proteins acts as a messenger in

living system

A. Hormone

B. Enzyme

C. Protective protein

D. Transport protein

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_0QK1mfYDzQmR
https://dl.doubtnut.com/l/_ckKsfe1yxA9g

66. Assertion : DNA molecules and RNA molecules are found
in the nucleus of cell.
Reason : On heating, enzymes do not lose their specific
activity.
A. If both assertion and reason are true and the reason is
the correct explanation of the assertion.
B. If both assertion and reason are true but reason is not
the corret explanation of the assertion.

C. If assertion is true but reason is false.

D. If the assertion and the reason both are false.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_6Cot1KWYU0Qu

67. Assertion(A): Activity of an enzyme is pH dependent.

Reason(R): Change in pH affects the solution of the enzyme

in water.

A. If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. If both assertion and reason are true but reason is not

the corret explanation of the assertion.

C. If assertion is true but reason is false.

D. If the assertion and the reason both are false.

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_8HEgg2Q64QSq
https://dl.doubtnut.com/l/_DnAvq10D2AXH

68. Assertion : Sequence of bases in DNA is TGAACCCTT and

sequence of bases in m-RNA is CATTAAACC.

Reason: In DNA nitrogeneous bases have hydrogen bonds.

A. If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. If both assertion and reason are true but reason is not

the corret explanation of the assertion.

C. If assertion is true but reason is false.

D. If the assertion and the reason both are false.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_DnAvq10D2AXH

69. Assertion: ATP molecules are energy rich molecules.

Reason: ATP consists of a purine base adenine, pentose sugar

ribose and a string of three phosphate groups.

A. If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. If both assertion and reason are true but reason is not

the corret explanation of the assertion.

C. If assertion is true but reason is false.

D. If the assertion and the reason both are false.

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_50cAElPsE6e6

Ordinary Thinking Classification On Polymers

1. Which of the following is not an example of addition

polymer?

A. Terylene

B. Polypropylene

C. Polyethylene

D. Polystyrene

Answer: A

o Watch Video Solution

2.-|[NH(CH,;)NHCO(CH,),CO]~is a


https://dl.doubtnut.com/l/_cQC8G3pgwOtj
https://dl.doubtnut.com/l/_a09O6mSpy1Yi

A. Thermosetting polymer

B. Homopolymer

C. Copolymer

D. Addition polymer

Answer: C

O Watch Video Solution

3. Struchures of some common polymers are given. Which

one is not correctly represented?

A Teflon ( — CF, — CFy, — ),


https://dl.doubtnut.com/l/_a09O6mSpy1Yi
https://dl.doubtnut.com/l/_4pmhGDPMlP33

B. Neoprene

—CHQ—?ZCH—CHQ—CHQ—

Cl

C.lw.

D.Nylon 66 [ — NH(CH,);NHCO(CHy), — CO — ],

Answer: B

° Watch Video Solution

4. Which one of the following is not a condensation polymer?

A. Melamine

B. Glyptal

C. Dacron


https://dl.doubtnut.com/l/_4pmhGDPMlP33
https://dl.doubtnut.com/l/_nMeYeeWrI1DK

D. Neoprene

Answer: D

o Watch Video Solution

5.Nylon is an example of

A. Polythene

B. Polyesters

C. Polysaccharide

D. Polyamide

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_nMeYeeWrI1DK
https://dl.doubtnut.com/l/_4rJSAV3hX58T

6. Which one of the following is an example of a

thermosetting polymer?

B. L.
(

C.—| (CHy) —C=CH - CH, —
\ o .
(

D.— | CHy — CH —
\ o /.

Answer: B

° Watch Video Solution

7. Which of the following is a thermosetting plastic ?


https://dl.doubtnut.com/l/_K7ZeGl3CIAAb
https://dl.doubtnut.com/l/_tqwOwxiMbFoI

A. PVC

B. PVA

C. Bakelite

D. Perspex

Answer: C

o Watch Video Solution

8. Which of the following polymer is an example of fibre ?

A. Silk

B. Dacron

C. Nylon-66

D. All of these


https://dl.doubtnut.com/l/_tqwOwxiMbFoI
https://dl.doubtnut.com/l/_gT0YHTjCaZYj

Answer: D

o Watch Video Solution

9. Which of the following is a biodegradable polymer?

A. Cellulose

B. polythene

C. Polyvinyl chloride

D. Protein

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_gT0YHTjCaZYj
https://dl.doubtnut.com/l/_eSDSUZQI1Xz1

10. Which of the following is not an example of natural

polymer?

A. Wool

B. Silk

C. Leather

D. Nylon

Answer: D

° Watch Video Solution

11. Which of the following is not a natural polymer?

A. Cellulose


https://dl.doubtnut.com/l/_dz7ttYVfzaSZ
https://dl.doubtnut.com/l/_1FbHohOMBC4Y

B. Protein

C. PVC

D. Nucleic acid

Answer: D

° Watch Video Solution

12. Which of the following is not an example of condensation

polymer :-

A. Nylon-6

B. Phenyl vinyl chloride

C. Bakelite

D. Buna -N


https://dl.doubtnut.com/l/_1FbHohOMBC4Y
https://dl.doubtnut.com/l/_6az8kseT0Tjm

Answer: D

o Watch Video Solution

13. Which of the following is not a natural polymer?

A. Cellulose

B. Protein

C. PVC

D. Nucleic acid

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_6az8kseT0Tjm
https://dl.doubtnut.com/l/_utOntqrFi0di

14. Which of the folowing is bio-degradable polymer?

A. Nylon-6

B. Phenyl vinyl chloride

C. Bakelite

D. Buna-N

Answer: A

o Watch Video Solution

15. Which of the following is not correct regarding terylene?

A. Step-growth polymer

B. Synthetic fibre


https://dl.doubtnut.com/l/_TqoPttH0bVty
https://dl.doubtnut.com/l/_fajd52fAaF4d

C. Condensation polymer

D. It is also called dacron

Answer: D

° Watch Video Solution

16. A thermoplastic among the following is:

A. Bakelite

B. Polystyrene

C. Terylene

D. Urea-formaldehyde resin

Answer: B

| &


https://dl.doubtnut.com/l/_fajd52fAaF4d
https://dl.doubtnut.com/l/_RxAtJH5BlyQq

[ W Watch Video Solution

17. Which is not a polymer?

A. Sucrose

B. Enzyme

C. Starch

D. Teflon

Answer: A

o Watch Video Solution

18. Which of the following is not a condensation polymer?

A. Nylon-66


https://dl.doubtnut.com/l/_RxAtJH5BlyQq
https://dl.doubtnut.com/l/_GFB7GwHaBP97
https://dl.doubtnut.com/l/_UkfNN055YlAd

B. Nylon 6

C. Dacron

D. Buna-s

Answer: D

o Watch Video Solution

19. Natural rubber is

A. polyester

B. polyamide

C. polyisoprene

D. ALL CIS-polysaccharide


https://dl.doubtnut.com/l/_UkfNN055YlAd
https://dl.doubtnut.com/l/_IZVLxyEL13iS

Answer: C

o Watch Video Solution

20. Which polymers occur naturally?

A. Starch and nylon

B. Starch and cellulose

C. Proteins and nylon

D. proteins and PVC

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_IZVLxyEL13iS
https://dl.doubtnut.com/l/_a1uSiVFIJfHR

21. Which of the following is not a synthetic polymer?

A. polyethylene

B. PVC

C. Nylon

D. Cellophane

Answer: D

o Watch Video Solution

22.0n the basis of the mode of their formation the polymers

can be classified:

A. As addition polymers only


https://dl.doubtnut.com/l/_MKL7uStWjNvd
https://dl.doubtnut.com/l/_orhh67RtZmtb

B. As condensation polymers only

C. As copolymers

D. Both as addition and condensation polymers

Answer: D

° Watch Video Solution

23. Which of the following is not a polymer?

A. Teflon

B. Petroleum

C. Cellulose

D. Natural rubber


https://dl.doubtnut.com/l/_orhh67RtZmtb
https://dl.doubtnut.com/l/_4btLpUxCk2wO

Answer: B

o Watch Video Solution

24. Which of the following is synthetic rubber?

A. Buna-S

B. Neoprene

C. both (a) and (b)

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_4btLpUxCk2wO
https://dl.doubtnut.com/l/_NiH7XJjel1gC

25. Which of the following is not an example of condensation

polymer :-

A. Nylon

B. Bakelite

C. Urea -formaldehyd resin

D. All of these

Answer: D

o Watch Video Solution

26. The polymer containing strong intermolecular forces, e.g.,

hydrogen bonding is:


https://dl.doubtnut.com/l/_aK0Ciuyb0cQt
https://dl.doubtnut.com/l/_TtJZ8QI5Eo9l

A. Natural rubber

B. Teflon

C. Nylon-66

D. Polystyrene

Answer: C

o Watch Video Solution

27. An example of chain growth polymeris__

A. Nylon-66

B. Bakelite

C. Terylene

D. Teflon


https://dl.doubtnut.com/l/_TtJZ8QI5Eo9l
https://dl.doubtnut.com/l/_uwUxF79Cs8GH

Answer: D

o Watch Video Solution

28. Natural rubber is which type of polymer?

A. Condensation polymer

B. Addition polymer

C. Co-ordination polymer

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_uwUxF79Cs8GH
https://dl.doubtnut.com/l/_LGOARfdrgQxh

29. Polyethylene is

A. Random copolymer

B. Homopolymer

C. Alternate copolymer

D. Crosslinked copolymer

Answer: B

o Watch Video Solution

30. Which of the following is a linear polymer?

A. Amylopectin

B. Glycogen


https://dl.doubtnut.com/l/_SM4y6FrOnaFy
https://dl.doubtnut.com/l/_8KHuNibznCRu

C.starch

D. Amylose

Answer: D

o Watch Video Solution

31.Nylon is not a

A. Condensation polymer

B. polyamide

C. Copolymer

D. homopolymer

Answer: D

| &


https://dl.doubtnut.com/l/_8KHuNibznCRu
https://dl.doubtnut.com/l/_54SgwyEAPouv

[ W Watch Video Solution

32.The condensation polymer among the following is:

A. Protein

B. PVC

C. Polyethene

D. Rubber

Answer: A

° Watch Video Solution

33. Which of the following polymer form net like structure ?

A. polyethene


https://dl.doubtnut.com/l/_54SgwyEAPouv
https://dl.doubtnut.com/l/_srFOYVCRvWq2
https://dl.doubtnut.com/l/_SuckWVvmfxM4

B. butyl rubber

C. polystyrene

D. melamine polymer

Answer: D

o Watch Video Solution

34.Thermoplastics are

A. Linear polymer

B. Highly cross-linked

C. both (a) and (b)

D. Crystalline


https://dl.doubtnut.com/l/_SuckWVvmfxM4
https://dl.doubtnut.com/l/_TYs3hI3oX1mL

Answer: A

o Watch Video Solution

35. Cis-1,4-polyisoprene ' is

A. Thermoplastic

B. Thermosetting plastic

C. Elastic (rubber)

D. Resin

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_TYs3hI3oX1mL
https://dl.doubtnut.com/l/_WVIBdVcMQcxi

36. Shellac' secreated by lac insect is

A. Natural plastic

B. Natural resin

C. Natural elastic

D. Any of these

Answer: B

° Watch Video Solution

37. Which of the following is not a polymer?

A. Gun cotton

B. Perspex


https://dl.doubtnut.com/l/_9lfCnuaqTSkc
https://dl.doubtnut.com/l/_pyRdoFTSZ2z7

C. Shellac (eg.lac shellac)

D. Wax (eg. Bees wax)

Answer: D

o Watch Video Solution

38. Melmoware are

A. Thermosetting

B. Thermoplastic

C. both (a) and (b)

D. None of these

Answer: A

| &


https://dl.doubtnut.com/l/_pyRdoFTSZ2z7
https://dl.doubtnut.com/l/_cq5eFYkjWFap

[ W Watch Video Solution

39. Which of the following is a synthetic polymer?

A. Low density polymer

B. Polyesters

C. High density polymer

D. Nylon

Answer: A

° Watch Video Solution

40. Which is the monomer of polypeptide

A. Propene


https://dl.doubtnut.com/l/_cq5eFYkjWFap
https://dl.doubtnut.com/l/_ZTNN1m3z8pGD
https://dl.doubtnut.com/l/_givqkwGj5svp

B. Butadiene

C. Adipic acid

D. Amino acid

Answer: D

° Watch Video Solution

41. Which of the following is an addition polymer?

A. Glucose
B. Polyethylene
C. Ethylene

D. Terylene


https://dl.doubtnut.com/l/_givqkwGj5svp
https://dl.doubtnut.com/l/_GjKzTWANLA5P

Answer: B

o Watch Video Solution

42. Polythene is

A. Thermoplastic

B. Thermosetting

C. both (a) and (b)

D. None of these

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_GjKzTWANLA5P
https://dl.doubtnut.com/l/_Lbo3kirCR18q

43. Bakelites are

A. Rubber

B. Rayon

C. Resins

D. Plasticisers

Answer: C

o Watch Video Solution

44. Which of the following is a step-growth polymer?

A. polyisoprene

B. polythene


https://dl.doubtnut.com/l/_4z4mGZFIPbL2
https://dl.doubtnut.com/l/_GA2Mhto1fVEw

C. Nylon

D. Polyacrylonitrile

Answer: C

o Watch Video Solution

45, Regarding cross-linked or network polymers, which of the

following statements is incorrect ?

A.They contain covalent bonds between various linear

polymer chains

B. They are formed from bi-and tri-functional monomers

C. Example are bakelite and melamine


https://dl.doubtnut.com/l/_GA2Mhto1fVEw
https://dl.doubtnut.com/l/_DTrLRNa4qSYf

D. They contain strong covalent bonds in their polymer

chains

Answer: D

o Watch Video Solution

Ordinary Thinking General Methods Of Preparation And

Mechanisms Of Polymerisation

1. The compound required for the formation of a

thermosetting polymer with formaldehyde is

A. Benzene

B. Phenyl amine

C. Benzaldehyde


https://dl.doubtnut.com/l/_DTrLRNa4qSYf
https://dl.doubtnut.com/l/_VSatx4KRqXst

D. Phenol

Answer: D

° Watch Video Solution

2. Name the compound/compounds used in the preparation
of nylon-66 .

A. Hexamethyl diamine and Adipic acid

B. Adipic acid and ethylene glycol

C. Adipic acid and hexamethylene diamine

D. Dimethyl terephthalate and ethylene glycol

Answer: C

| o Wiakl.\ntdaa ALkl am



https://dl.doubtnut.com/l/_VSatx4KRqXst
https://dl.doubtnut.com/l/_oN02JOOKSTtt
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3. The straight chain polymer is formed by

A. Hydrolysis of (C'Hj3);SiCl followed by condensation
polymerisation

B. Hydrolysis of C'H3SiCl3 followed by condensation
polymerisation

C. Hydrolysis of (C'Hj), Si by addition polymerisation

D. Hydrolysis of (CHj3),SiCl, followed by condensation

polymeration

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_oN02JOOKSTtt
https://dl.doubtnut.com/l/_pxrOK2VYYq0o
https://dl.doubtnut.com/l/_bE7EeBxBVdeW

4. Which one of the following sets forms the biodegrable
polymer?
ACHy,=CH —-CNand CHy, = CH — CH,
B. HbN — CHy — COOH and
H)N — (CHy), — COOH
C.HO — CH, — CH, — OH and lw.

D.CH = CH2 and CH2 — CH = CH2

Answer: B

° Watch Video Solution

5. Which of the following organic compounds polymerizes to

form the polyster Dacron ?


https://dl.doubtnut.com/l/_bE7EeBxBVdeW
https://dl.doubtnut.com/l/_sTL2RCa0b0xc

A. Terephthalic acid and ethylene glycol
B. Benzoic acid and para HO — (C¢H,) — OH

C. Propylene and para HO — (C¢H,) — OH

D. Benzoic acid and ethanol

Answer: A

° Watch Video Solution

6. Teflon is a polymer, monomer of which is:

A. Monofluoroethene

B. Difluoroethane

C. Trifluoroethene

D. Tetrafluoroethene


https://dl.doubtnut.com/l/_sTL2RCa0b0xc
https://dl.doubtnut.com/l/_zXYYZTPorbH7

Answer: D

o Watch Video Solution

7.Nylon-6 is made from

A. Butadiene

B. Chloroprene

C. Adipic acid

D. Caprolactum

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_zXYYZTPorbH7
https://dl.doubtnut.com/l/_gWh7BeCAC3m4

8. Orlon has a unit:

A.Vinyl cyanide

B. Acroein

C. Glycol

D. Isoprene

Answer: A

o Watch Video Solution

9.Buna-S is a polymer of :

A. Butadiene only

B. Butadiene and styrene


https://dl.doubtnut.com/l/_Bzd3iNakQhGE
https://dl.doubtnut.com/l/_4axBqy7ZgcWu

C. Styrene only

D. Butadiene and nitryl

Answer: B

o Watch Video Solution

10. PVC is preapred by the polymerisation of

A. Ethylene

B. 1-chloropropene

C. Propene

D. 1-chloroethene

Answer: D

| &


https://dl.doubtnut.com/l/_4axBqy7ZgcWu
https://dl.doubtnut.com/l/_QWIituASx6Qh

[ W Watch Video Solution ]

11. Terylene is the polyester of:

A. Ethylene glycol and terephthalic acid

B. Melamine and formaldehyde

C.Vinyl chloride and formaldehyde

D. Hexamethylene diamine and adipic acid

Answer: A

o Watch Video Solution

12. The common acid used in the manufacture of rayon and

plastics is


https://dl.doubtnut.com/l/_QWIituASx6Qh
https://dl.doubtnut.com/l/_O4zTHPjnKtCm
https://dl.doubtnut.com/l/_ULcUgCV85t8Q

A. Methanoic acid

B. Ethanoic acid

C. Propanoic acid

D. Butanoic acid

Answer: B

° Watch Video Solution

13. The catalyst used for the polymerization of olefins is:

A. Ziegler Natta catalyst

B. Wilkinson's catalyst

C. Pd-catalyst

D. Zeise's salt catalyst


https://dl.doubtnut.com/l/_ULcUgCV85t8Q
https://dl.doubtnut.com/l/_qC2CQ5pK7llf

Answer: A

o Watch Video Solution

14. Match the following correctly

i

A. (A)-iv,(B)-1,(C)-ii,(D)-iii

B. (A)-iv,(B)-iii,(C)-ii,(D)-i

C. (A)-iii,(B)-1,(C)-ii,(D)-iv

D. (A)-iv,(B)-ii,(C)-I,(D)-ii

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_qC2CQ5pK7llf
https://dl.doubtnut.com/l/_KZ9WWMCDgwrJ
https://dl.doubtnut.com/l/_1QCygVawWids

15. The monomers used for the synthesis of nylon-2-nylon-6

are:

A. Caprolactum

B. Alanine and amino caproic acid

C. Glycine and amino caproic acid

D. Hexamethylenediamine and adipic acid

Answer: C

° Watch Video Solution

16. The polymerization process in which two or more
chemically different monomers take part to form a polymer is

called


https://dl.doubtnut.com/l/_1QCygVawWids
https://dl.doubtnut.com/l/_A2rkLONrywvB

A. Addition polymerisation

B. Copolymerisation

C. Chain polymerisation

D. Homopolymerisation

Answer: B

° Watch Video Solution

17. Which one of the following polymers will NOT catch fire ?

A(—CFy—CF,—),

B.(— CH, — CH, —),

C.| —CH-CH -
| |
Cl Cl


https://dl.doubtnut.com/l/_A2rkLONrywvB
https://dl.doubtnut.com/l/_jQizzPUI6W4b

D.| —CH, — CH —
|

Ci

Answer: A

o Watch Video Solution

18. The starting materials for the preparation of styrene is

A. Ehtane

B. Ethene

C. Ethyne

D. Vinyl chloride

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_jQizzPUI6W4b
https://dl.doubtnut.com/l/_s2PQKGNVCdXo

19. Rayon yarns are obtained from

A. Polymethylene

B. Polyesters

C. Cellulose

D. Styrene

Answer: C

o Watch Video Solution

20. A raw meterial used in making nylon is

A. Adipic acid


https://dl.doubtnut.com/l/_s2PQKGNVCdXo
https://dl.doubtnut.com/l/_uV98SCOShzcV
https://dl.doubtnut.com/l/_peEqh7Xeqznx

B. Butadiene

C. ethylene

D. Methyl methacrylate

Answer: A

° Watch Video Solution

21. Natural rubber is

A. A polumer of 1,3-butadiene

B. A polymer of ethylene

C. A polymer of 2-methyl-1,3-butadiene

D. A polymer of styrene


https://dl.doubtnut.com/l/_peEqh7Xeqznx
https://dl.doubtnut.com/l/_86G0jSrMIrsH

Answer: C

o Watch Video Solution

22. In the preparation of Nylon -6 from chyclohexanone

oxime use is made of a rearrangment reaction. This

rearrangment reaction is called

A. Wolf rearrangement

B. Amadorirearrangment

C. Curtuis rearrangment

D. Beckmann rearragement

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_86G0jSrMIrsH
https://dl.doubtnut.com/l/_DE253LIg6JC6

23. Which polymer manufactured

polymerization is

A. Polyester

B. polystyrene

C. polyethylene propylene

D. Polyvinyl chloride

Answer: A

by

condensation

° Watch Video Solution

24. Example of condensation polymer is


https://dl.doubtnut.com/l/_DE253LIg6JC6
https://dl.doubtnut.com/l/_KBOEKuPSD7c9
https://dl.doubtnut.com/l/_8re3zhFE5Hmi

A.Formaldehyde — -meta-formaldehyde

B. Acetaldehyde — para-aldehyde

C. Aceton — mesityl oxide

D. Ethene — polyethene

Answer: C

° Watch Video Solution

25. Polymer formation from monomers starts by:

A. Condensation reaction between monomers

B. Coordinate reaction between monomers

C. Conversion reaction between monomers

D. Conversion of monomers to monomer ions by protons


https://dl.doubtnut.com/l/_8re3zhFE5Hmi
https://dl.doubtnut.com/l/_FSWqmtnsNByY

Answer: A

o Watch Video Solution

26.Buna-IN synthetic rubber is a copolymer of:

Ci

|
A HQC =CH —-C = CH2 and

H,C =CH - CH = CH,

B. H,C = CH — CH = CH, and H;Cs — CH = CH,

C.H,C =CH - CNand H,C =CH — CH = CH,

D.H,C = CH — CNand H,C = CH — C = CH,
|
CHs

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_FSWqmtnsNByY
https://dl.doubtnut.com/l/_Ocm44zZXuFeU

27. The species which can best serve as an initiator for the

cationic polymerization is:

A LiAlH,

B. HNO;

C. AlCI;

D. BulLi

Answer: C

° Watch Video Solution

28. Acetate rayon is prepared from

A. Acetic acid


https://dl.doubtnut.com/l/_Ocm44zZXuFeU
https://dl.doubtnut.com/l/_8eu5rSG1tFJM
https://dl.doubtnut.com/l/_PjqcEI9Q3vjr

B. Glycerol

C. Starch

D. Cellulose

Answer: D

° Watch Video Solution

29. When condensation product of hexamethylenediamine
and adipic acid is heated to 553K (80°C) in an atmosphere
of nitrogen for about 4 — 5 hours, the product obtained is

A. Solid polymer of nylon 66

B. Liquid polymer of nylon 66

C. Gaseous polymer of nylon 66


https://dl.doubtnut.com/l/_PjqcEI9Q3vjr
https://dl.doubtnut.com/l/_bSX6RM3bPfzU

D. Liquid polymer of nylon 6

Answer: B

o Watch Video Solution

30.The s-block element used as a catalyst in the manufacture
of buna-S rubber is

A Mg

B.Ca

C.Ba

D. Na

Answer: D

| o W akdla\tdaa CAlikliam



https://dl.doubtnut.com/l/_bSX6RM3bPfzU
https://dl.doubtnut.com/l/_1F53TbiYlgJG
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31. Which of the following pair of monomers are used in

preparation of PHBV?

A. B-hydroxy butyric acid, 8-hydroxy valeric acid

B. B-hydroxy valeric acid, amino caproic acid

C. B-hydroxy butyric acid, adipic acid

D. lactic acid, adipic acid

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_1F53TbiYlgJG
https://dl.doubtnut.com/l/_jxaXs065NfOy

32. Which of the following is a syndiotactic polymer in
|- CH, - C(YZ) — |,
A.All Y groups lie on one side of the chain and all Z
groups on the other side
B.The Y and Z group lie alternately on each side of the
chain
C.The Y and Z group are arranged in a random fasion

D.Y and Z group are same

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_ACobDVHvLfhU

33. Polymers of the type Z-Mn-Y , i.e those which contain a

foreign molecule in addition to the recurring unit are known

as

A. Semisynthetic polymers

B. Atactic polymers

C. Telomers

D. Pasticiser

Answer: C

° Watch Video Solution

34. In the natural rubber ' Caoutchouc'. The isoprene units

are joined by


https://dl.doubtnut.com/l/_FlNQGWJmFIjU
https://dl.doubtnut.com/l/_mlEPsbkf0vKz

A. Head-to -head

B. Tail-to-tail

C. Head-to-tail

D. All of these

Answer: C

° Watch Video Solution

35. The degreen of crystallinity of which of the following is

highest

A. Atactic polyvinylchloride

B. Isotactic polyvinylchloride

C. Syndiotactic polyvinylchloride


https://dl.doubtnut.com/l/_mlEPsbkf0vKz
https://dl.doubtnut.com/l/_DKGHc3brxRCX

D. All of these

Answer: C

o Watch Video Solution

36. Which is used in the manufacture of plastic

A.CH, = CHCI

B.CH =CH

C.CH, = CH — CH,I

D.CCl,

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_DKGHc3brxRCX
https://dl.doubtnut.com/l/_71RQedDWI4W0

37. Polymerization of glycol with dicarboxylic acids is__

A. Addition polymerisation

B. Condensation polymerisation

C. Telomerisation

D. Any of these

Answer: B

o Watch Video Solution

38. The 'mercerised cellulose' is chemically prepared by

A. Acetylation

B. Mercuration


https://dl.doubtnut.com/l/_jHZRSkWZeH1u
https://dl.doubtnut.com/l/_zL5lXcvtMB3U

C. Halogenation

D. Hydrolysis

Answer: D

° Watch Video Solution

39. What should be added to the plastics , to change from

hard to soft and readily workable into new object .

A. Catalyst

B. Telomers

C. Pasticisers

D. Vulcaniser


https://dl.doubtnut.com/l/_zL5lXcvtMB3U
https://dl.doubtnut.com/l/_EjOvcMKZ008L

Answer: C

° Watch Video Solution

40. Celluloid is

A. A thermoplastic material obtained from caprolactam

and urea

B.A thermoplastic material obtained from cellulose

nitrate and camphor

C.A thermosetting material obtained from urea and

formaldehyde

D. A thermosetting material obtained from glycerol and

phthalic anhydride


https://dl.doubtnut.com/l/_EjOvcMKZ008L
https://dl.doubtnut.com/l/_xvt9KaX7QZ9p

Answer: B

o Watch Video Solution

41. Polypropylene can be obtained by polymerization of

A.CH =CH

B.CH, = CH,

C.CH, — CH = CH,

D.CH; — C = CH

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_xvt9KaX7QZ9p
https://dl.doubtnut.com/l/_wYxhDB7ZqFyS
https://dl.doubtnut.com/l/_Clyj2gHWh0zL

42. When heated with zinc chloride, lactides forms a linear

polymer which may be

A. Polystyrene

B. polyamide

C. Polyester

D. Polythene

Answer: A

° Watch Video Solution

43. Which of the following has been used in the manufacture

of non-inflammable photographic films?


https://dl.doubtnut.com/l/_Clyj2gHWh0zL
https://dl.doubtnut.com/l/_lhPDTnGkeZhP

A. Cellulose nitrate

B. Cellulose acetate

C. Cellulose xanthate

D. Cellulose perchlorate

Answer: B

° Watch Video Solution

44, Assertion : 1,3 — Butadiene is the monomer for natural
rubber.
Reason : Natural rubber is formed though anionic addition

polymerization.



https://dl.doubtnut.com/l/_lhPDTnGkeZhP
https://dl.doubtnut.com/l/_qBenoAKD2X1I

A. If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. If both assertion and reason are true but reason is not

the corret explanation of the assertion.

C. if assertion is true but reason is false

D. if the assertion and reason both are false

Answer: D

o Watch Video Solution

Ordinary Thinking Composition Properties And Uses Of

Polymers

1. Heating rubber with sulphur is known as


https://dl.doubtnut.com/l/_qBenoAKD2X1I
https://dl.doubtnut.com/l/_x2OPMy36cM3L

A. Galvanisaiton

B. Vulcanisation

C. Bessemerisation

D. Sulphonation

Answer: B

° Watch Video Solution

2. Neoprene (synthetic rubber) is a polymer of

A. Propene

B. Vinyl chloride

C. Chloroprene

D. Butadiene


https://dl.doubtnut.com/l/_x2OPMy36cM3L
https://dl.doubtnut.com/l/_lWVZGjskpzYC

Answer: C

o Watch Video Solution

3. Natural rubber is basically of or the

monomer of natural polymer rubber is

A. Neoprene

B. Isoprene

C. Chloroprene

D. Butadiene

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_lWVZGjskpzYC
https://dl.doubtnut.com/l/_FP9ySdns3Dv6
https://dl.doubtnut.com/l/_Infuom2CtIwM

4. Which of the following is used to make nonstick cookware?

A. PVC

B. polystyrene

C. Polyethylene terephthalate

D. Polytetrafluoroethylene

Answer: D

o Watch Video Solution

5. Acrilan is a hard, horny and a high melting matrial. Which

of the following represent its structure?

Al —cH, - CcH -
|
Cl

n


https://dl.doubtnut.com/l/_Infuom2CtIwM
https://dl.doubtnut.com/l/_6BPd5ncmu14w

\
(

\
(

\

Answer:

— CHy, — CH —
|

CN n
CH, \
|
_CH, - C —
|
COOCH; )
_CH —
|
COOC, H

° Watch Video Solution

6. The monomer of the polymer

P

A o

B. (CH;),C = C(CH3),



https://dl.doubtnut.com/l/_6BPd5ncmu14w
https://dl.doubtnut.com/l/_ubfRKRB8hl3C

C.CH,;CH = CHCH,

D. CH;CH = CH,

Answer: A

° View Text Solution

7. Which of the following structures represents neoprene

polymer?

_CH — CH, —
A. |
CeHj

—CH2—|C:CH—CH2—
Cl
CN
|
CH, — CH

~ N N


https://dl.doubtnut.com/l/_ubfRKRB8hl3C
https://dl.doubtnut.com/l/_T0rMzeW1RMHK

Cl

D.| —CH, — CH —

Answer: B

o Watch Video Solution

8.Terylene is a

A. Polyamide

B. Polyester

C. Polyethylene

D. Polypropylene

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_T0rMzeW1RMHK
https://dl.doubtnut.com/l/_TpaU2dlaKsTY

9. Which is the monomer of neoprene in the following?

ACHy,=CH-C=CH

B.CHy, = CH — CH = CH>

C.CH> = |C — CH = CH;
CHj

D.CH>; = |C— CH = CH>
Cl

Answer: D

° Watch Video Solution

10. In elastomer, intermolecular forces are

A. Nil


https://dl.doubtnut.com/l/_TpaU2dlaKsTY
https://dl.doubtnut.com/l/_5XRtHh72dDN1
https://dl.doubtnut.com/l/_YjMjAje29vtH

B. Weak

C. Strong

D. Very strong

Answer: B

o Watch Video Solution

11. Orlon is a polymer of

A. Styrene

B. Tetrafluoro ethylene

C.Vinyl chloride

D. Acrylonitrile


https://dl.doubtnut.com/l/_YjMjAje29vtH
https://dl.doubtnut.com/l/_TCX77WQLmgJU

Answer: D

o Watch Video Solution

12. Which of the following is currently used as a tyre cord?

A. Terylene

B. Polyethylene

C. Polypropylene

D. Nylon - 6

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_TCX77WQLmgJU
https://dl.doubtnut.com/l/_CR6iBZa0HmQy

13.1n a polymer sample, 30 % of molecules have a molecualr
mass of 20, 000, 40 % have 30,000 and the rest 60,000. What
is the weight average molecular mass of the polymer?

A. 40300

B. 30600

C. 43333

D. 50400

Answer: C

° Watch Video Solution

14. The monomer of Nylon-6 is/are


https://dl.doubtnut.com/l/_RDQWD0PVVwJR
https://dl.doubtnut.com/l/_gxzG4GVfWZJw

A=

B. Ll

C.F,C = CF,

D. HQC = CH2
Answer: B

o View Text Solution

15. Which polymer is used for making magnetic recording

tapes?

A. Dacron

B. Acrlian

C. Glyptal


https://dl.doubtnut.com/l/_gxzG4GVfWZJw
https://dl.doubtnut.com/l/_QGmeDXGam3bZ

D. Bakelite

Answer: A

O Watch Video Solution

16. Given the polymers (i) Nylon 66, (ii) Buna-S , (iii) Polythene
, arrange these in increasing of their inter-molecular forces
(lower to high)

D. (i33) < (3) < (4%)

Answer: A


https://dl.doubtnut.com/l/_QGmeDXGam3bZ
https://dl.doubtnut.com/l/_mkQzsrTvXBH7

° Watch Video Solution

17. The polymer used for optical lenses is

A. Teflon

B. Terylene

C. Polystyrene

D. Polymethyl Methacrylate

Answer: D

o Watch Video Solution

18. Which of the following fibres contain amide linkage ?


https://dl.doubtnut.com/l/_mkQzsrTvXBH7
https://dl.doubtnut.com/l/_pg7DNrJzftmt
https://dl.doubtnut.com/l/_eulS2nrlaOul

A. Nylon -66

B. Terylene

C. Teflon

D. Bakelite

Answer: A

o Watch Video Solution

19.Isoprene is a valuable

A. Propene

B. Liquid fuel

C. Synthetic rubber

D. Petrol


https://dl.doubtnut.com/l/_eulS2nrlaOul
https://dl.doubtnut.com/l/_6Prb1pePVJEf

Answer: C

o Watch Video Solution

20. Which of the following polymer turns yellowish on

exposure to sunlight

A. Polystyrene

B. Nylon

C. Polyethylene

D. Styrene butadiene resin

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_6Prb1pePVJEf
https://dl.doubtnut.com/l/_47KWR6XXNCHx
https://dl.doubtnut.com/l/_xpKVvsg9QquM

21. Characteristic property of teflon is

A. 2000 poise viscosity
B. High surface tension

C. Non-inflammable and resistant to heat

D. Highly reactive

Answer: C

° Watch Video Solution

22. Nylon -66 is


https://dl.doubtnut.com/l/_xpKVvsg9QquM
https://dl.doubtnut.com/l/_zgnyliAJLnVF

(1 Y

CHj \
|
C —CH; — C —
|
\ cooMe )
( F F
| |
o.| —c-C-

Answer: A

—~C - (CHy), — C — NH — (CH,); — NH —

)

o Watch Video Solution



https://dl.doubtnut.com/l/_zgnyliAJLnVF

23. Among the following substituted silanes, the one which

will give rise to cross linkes silicons polymer on hydrolysis is

A.RSiCls

B. R,SiCl,

C. R3S:Cl

D. R4St

Answer: A

o Watch Video Solution

24. Buna-S rubber is which of the following of 1-3-butadiene

and tyrene


https://dl.doubtnut.com/l/_cwrE4J1vNuxj
https://dl.doubtnut.com/l/_FTQKGj5TYcvi

A. Polymers

B. Copolymer

C. Addition

D. Condensation polymer

Answer: B

o Watch Video Solution

25. Which of the following is used in valcuization of rubber ?

A. SF

B.CF),

C.Cl,Fy

D. CyF,


https://dl.doubtnut.com/l/_FTQKGj5TYcvi
https://dl.doubtnut.com/l/_e87bzJ7LTa0v

Answer: A

o Watch Video Solution

26. Synthetic polymer which resembler natural rubber is:

A. Neoprene

B. Chloroprene

C. Glyptal

D. Nylon

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_e87bzJ7LTa0v
https://dl.doubtnut.com/l/_sQzwlK09BlI4

27.The plastic household crockery is prepared by using

A. Melamine and tetrafluoroethane

B. Malonic acid and hexamethyleneamine

C. Melamine and vinyl acetate

D. Melamine and formaldehyde

Answer: D

° Watch Video Solution

28. Three dimensional molecules with cross-links are formed

in case of

A. Thermoplastic


https://dl.doubtnut.com/l/_CJTKvA0hf2FH
https://dl.doubtnut.com/l/_yAMofR9R51qk

B. Thermosetting plastic

C. Both

D. None

Answer: B

o Watch Video Solution

29. PVC is used for the

A. Manufactured of cosmetics

B. Manufacture of tyres

C. Manufactures of nonstick pans

D. Manufacture of plastics pipes


https://dl.doubtnut.com/l/_yAMofR9R51qk
https://dl.doubtnut.com/l/_M7Xy3OBxJnAW

Answer: D

o Watch Video Solution

30. Which of the following has ester linkage ?

A. Nylon -66

B. PVC

C. Terylene

D. SBR

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_M7Xy3OBxJnAW
https://dl.doubtnut.com/l/_jrCPxy6U4WEG

31. The mass average molecular mass & number average

molecular mass of a polymer are 40,000 and 30,000

respectively. The polydispersity index of polymer will be

A <1

B. >1

C.1

D.O

Answer: B

° Watch Video Solution

32. Which percentage of sulphur is used in the vulcanization

of rubber?


https://dl.doubtnut.com/l/_5MInGbPzLVAX
https://dl.doubtnut.com/l/_mzRn9QJBlMZV

A5

B.0.03

C.0.3

D.0.55

Answer: A

° Watch Video Solution

33. Discovery of 'nylon’ is associated with

A. Newyork and london

B. Newyork and longuet

C. Nyholm and london

D. None of these


https://dl.doubtnut.com/l/_mzRn9QJBlMZV
https://dl.doubtnut.com/l/_V3YkgbybCuD8

Answer: A

o Watch Video Solution

34. Which of the following is resistant to boiling aqua-regia

A. Polythene

B. Perspex

C. Teflon

D. Bakelite

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_V3YkgbybCuD8
https://dl.doubtnut.com/l/_pavuODtR8KbH

35. Nylon polymers are__

A. Acidic

B. Basic

C. Amphoteric

D. Neutral

Answer: C

o Watch Video Solution

36. In the process of forming 'mercerised cellulose' the

swelling of cellulose is caused by

A. Water soluble


https://dl.doubtnut.com/l/_8Epk0zb4zIzq
https://dl.doubtnut.com/l/_xHInLACzJGG0

B. N(LzCOg

C. Aq. NaOH

D. Aq.HCI

Answer: C

o Watch Video Solution

37. 'Rayon’ is

A. Natural silk

B. Artificial silk

C. Natural plastic or rubber

D. Synthetic plastic


https://dl.doubtnut.com/l/_xHInLACzJGG0
https://dl.doubtnut.com/l/_auUSsArN5NKP

Answer: B

o Watch Video Solution

38. As the molecular weight increases the tensile strength of

polymers

A. Increases

B. Decreases

C. Remains unchanged

D. Unecertain

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_auUSsArN5NKP
https://dl.doubtnut.com/l/_rn2xPA1js17o
https://dl.doubtnut.com/l/_5MssO99enq3v

39. Glyptals are chiefly employed in

A. Toy making

B. Surface coating

C. Photofilm making

D. Electric insulators

Answer: B

O Watch Video Solution

40. The sterile gauze (or cotton) used in medicine is obtained

by oxidising cellulose with

A. Nitrogen


https://dl.doubtnut.com/l/_5MssO99enq3v
https://dl.doubtnut.com/l/_3dMzwkHvuoXW

B. KM’I’LO4

C. Nitrogen dioxide

D. potassium chlorate

Answer: C

° Watch Video Solution

41. Ethylene-propylene rubber (EPR) is

A. Unsaturated, stereoregular

B. Saturated, stereoregular

C. Atactic, unsaturated

D. Syndiotactic, unsaturated


https://dl.doubtnut.com/l/_3dMzwkHvuoXW
https://dl.doubtnut.com/l/_4UAyQHCfKR7h

Answer: B

o Watch Video Solution

42. Acrylic resins are

A. Colourless and transparent

B. Dark brown and thermosetting

C. Dark brown and thermoplastic

D. White like milk

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_4UAyQHCfKR7h
https://dl.doubtnut.com/l/_Sq9W7jh2fO0t

43. Which of the following has cross -links

A. Vulcanised rubber

B. Nylon

C. Phenol-formaldehyde resins

D. Both (a) and (c) are correct

Answer: D

o Watch Video Solution

44. Which of the following polymers are hard?

A. Linear polymer

B. Cross-linked


https://dl.doubtnut.com/l/_APgyCJQp9pSb
https://dl.doubtnut.com/l/_SSPL34KiWHiH

C. Branched chain

D. Thermoplastic

Answer: B

° Watch Video Solution

45. In the trinitrocellulose, each glucose unit contains how

many-OH groups

A2

B.3

C. 4

D.5


https://dl.doubtnut.com/l/_SSPL34KiWHiH
https://dl.doubtnut.com/l/_njDvQCHk36xD

Answer: B

° Watch Video Solution

46. Assertion: The time of vulcanisation and temperature is
increased by adding accelerators.
Reason: By vulcanising, a material of high tensile strength
can be obtained
A. If both assertion and reason are true and the reason is
the correct explanation of the assertion.
B. If both assertion and reason are true but reason is not
the corret explanation of the assertion.

C. if assertion is true but reason is false

D. if the assertion and reason both are false


https://dl.doubtnut.com/l/_njDvQCHk36xD
https://dl.doubtnut.com/l/_DuS9Sc12efUG

Answer: D

° Watch Video Solution

47. Assertion: In vulcanisation of rubber , sulphur cross links

are introduced.

Reason: Vulcanisation is a free radical intiated chain

reaction.

A. If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. If both assertion and reason are true but reason is not

the corret explanation of the assertion.

C. if assertion is true but reason is false

D. if the assertion and reason both are false


https://dl.doubtnut.com/l/_DuS9Sc12efUG
https://dl.doubtnut.com/l/_04SeAuwTSKUk

Answer: B

° Watch Video Solution

48. (A) Teflon has high thermal stability and chemical
inertness.

(R )Teflon is a thermoplastic.

A. If both assertion and reason are true and the reason is

the correct explanation of the assertion.

B. If both assertion and reason are true but reason is not

the corret explanation of the assertion.

C. if assertion is true but reason is false

D. if the assertion and reason both are false


https://dl.doubtnut.com/l/_04SeAuwTSKUk
https://dl.doubtnut.com/l/_XCyoZCD0CmvH

Answer: B

o Watch Video Solution

Critical Thinking Objective Question

1. The number of ATP molecules produced in the lipid

metabolism of a molecules of palmitic acid is

A.130

B.36

C. 56

D. 86

Answer: A



https://dl.doubtnut.com/l/_XCyoZCD0CmvH
https://dl.doubtnut.com/l/_U8ATM0wfz9Y4

| o Watch Video Solution

2.Ebonite is:

A. Polropene

B. Natural rubber

C. Synthetic rubber

D. Highly vulcanized rubber

Answer: D

o Watch Video Solution

3. Which of the following is not polyamide ?


https://dl.doubtnut.com/l/_U8ATM0wfz9Y4
https://dl.doubtnut.com/l/_MFSmjKILx8wS
https://dl.doubtnut.com/l/_K0PiyJI8aulq

A. Nylon-66

B. Protein

C. Glyptal

D. Nylon-6

Answer: C

o Watch Video Solution

4.Vitamin By contains

A. Ca(ll)

B. Zn(ll)

C. Fe(ll)

D. Co(lll)


https://dl.doubtnut.com/l/_K0PiyJI8aulq
https://dl.doubtnut.com/l/_Tjd6AF54c6T1

Answer: D

° Watch Video Solution

5. Chargaff' a rule states that in an organism:

A. Amounts of all bases are equal

B. Amount of adenine (A) is equal to that of thymine (T)

and the amount of guanine (G) is equal to that of

cytosine (C)

C. Amount of adenine (A) is equal to that of guanine (G)

and the amount of thymine (T) is equal to that of

cytosine (C)


https://dl.doubtnut.com/l/_Tjd6AF54c6T1
https://dl.doubtnut.com/l/_u7DHDpz4eINX

D. Amount of adenine (A) is equal to that of cytosine (C)

and the amount of thymine (T) is equal to guanine (G)

Answer: B

o Watch Video Solution

6. Which of the following is a chain growth polymer?

A. Polystyrene

B. Protein

C. Starch

D. Nucleic acid

Answer: A

| &


https://dl.doubtnut.com/l/_u7DHDpz4eINX
https://dl.doubtnut.com/l/_oBSOPxDdL0CS

[ W Watch Video Solution ]

7. A sequence of how many nucleotides in messenger RNA

makes a condon for an amino acid

A. One

B. Two

C.Three

D. Four

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_oBSOPxDdL0CS
https://dl.doubtnut.com/l/_aszVHlPbcoGH

8. The enzyme which hydrolyses triglycerides to fatty acid

and glycerol is called:

A. Zymase

B. Pepsin

C. Maltase

D. Lipase

Answer: D

° Watch Video Solution

9. Total number of chiral carbons in 8 — D( + ) glucose is

A. Three


https://dl.doubtnut.com/l/_Oh81iLZRgZqf
https://dl.doubtnut.com/l/_i014QidooAYM

B. Four

C. Five

D. Six

Answer: B

o Watch Video Solution

10. Cell membranes are mainly composed of :

A. Carbohydrates

B. proteins

C. phospholipids

D. fats


https://dl.doubtnut.com/l/_i014QidooAYM
https://dl.doubtnut.com/l/_2MAC7GVmkV3C

Answer: B

° Watch Video Solution

11. The cell membranes are following statements is not true

A.Buna-S is a copolymer of butadiene and styrene

B. Natural rubber is a 1,4-polymer of isoprene

C.In vulcanization, the formation of sulphur bridges

between different chains make rubber harder and

stronger

D. Natural rubber has the trans configuration at every

double bond

Answer: D


https://dl.doubtnut.com/l/_2MAC7GVmkV3C
https://dl.doubtnut.com/l/_nvEx9HmnCRre

° Watch Video Solution

12. Which of the statements about "Denaturation" given
below are correct ?

(1) Denaturation of proteins causes loss of secondary and
tertiary structures of the protein.

(2) Denaturation leads to the conversion of double strand of
DNA into single strand.

(3) Denaturation affects primary structure which gets

distorted.

A.Aand b

B.A,BandC

C.Band C

D.Aand C


https://dl.doubtnut.com/l/_nvEx9HmnCRre
https://dl.doubtnut.com/l/_cb4CH86MbX5X

Answer: A

o Watch Video Solution

13. Which of the following statement is false

A. Artificial silk is derived from cellulose

B. Nylon-66 is an example of elastomer

C. The repeat unit in natural rubber is isoprene

D. Both starch and cellulose are polymers of glucose

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_cb4CH86MbX5X
https://dl.doubtnut.com/l/_8AQnb7hlHcZv

14. Which of the following statement is correct regardiing

the drawbacks of raw rubber ?

A. It is plastic in nature

B. It has little durability

C. It has large water-absorption capacity

D. All of these

Answer: D

o Watch Video Solution

15. The nucleic acid base having two possible binding sites is:

A. Thymine


https://dl.doubtnut.com/l/_YWUW2K7zkOVg
https://dl.doubtnut.com/l/_bIwY8cUsuwDI

B. Cytosine

C. Guanine

D. Adenine

Answer: C

o Watch Video Solution

16. Subunits present in haemoglobin are:

A2

B.3

C. 4

D.5


https://dl.doubtnut.com/l/_bIwY8cUsuwDI
https://dl.doubtnut.com/l/_xZCxvby785zB

Answer: C

° Watch Video Solution

17. The statement which is not correct, is

A. Chlorophyll is responsible for the synthesis of
carbohydrate in plants

B. The compound formed by the addition of oxygen to
haemoglobin is called oxyhaemoglobin

C. Acetyl salicyclic acid is known as aspirin

D. The metal ion present in vitamin By is Mg**

Answer: D

‘ ° Watch Video Solution


https://dl.doubtnut.com/l/_xZCxvby785zB
https://dl.doubtnut.com/l/_2tKhXJ39oMDJ

18. Perlon is

A. Rubber

B. Nylon-6

C. Terylene

D. Orlon

Answer: B

° Watch Video Solution

19. Starting with three different amino acid molecules, how

many different tripeptide molecules are formed


https://dl.doubtnut.com/l/_2tKhXJ39oMDJ
https://dl.doubtnut.com/l/_UdMiV2XT42pE
https://dl.doubtnut.com/l/_jTw62CvjpNjT

A 12

B.9

C.8

D.6

Answer: D

o Watch Video Solution

20. DN A multiplication is called:

A. Translation

B. Transduction

C. Transcription

D. Replication


https://dl.doubtnut.com/l/_jTw62CvjpNjT
https://dl.doubtnut.com/l/_hPqhsUtve7dg

Answer: D

o Watch Video Solution

21. Alkyl benzene sulphonates can be used as detergents in
hard water, unlike soaps, as

A. They are highly soluble in water

B.Their Ca™ ™ /Mg™ ™ salts are water soluble

C. They are non-ionic

D.Their Ca™ " /Mg™ ™ salts are insoluble in water

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_hPqhsUtve7dg
https://dl.doubtnut.com/l/_Suv96wbMlMQs
https://dl.doubtnut.com/l/_GDaTnMdmdVKj

22.In baklite, the rings, are joined to each other through:

A.—CH, —
B.—O —
OH
|
C.-C —H
|
H
D.—C —
|
o)
Answer: A

° Watch Video Solution

23. Which one of the following can be used as monomer in a

polymerisation reaction ?

A.CH3CH>CI


https://dl.doubtnut.com/l/_GDaTnMdmdVKj
https://dl.doubtnut.com/l/_9REOtRmlsRh4

B. CH,CH,OH

Answer: D

o Watch Video Solution

24. Silicones are a group of organosilicon polymers

containing_____ linkages.

A.Si-O-Si

B. O-Si-O linkage

C. Si-C-Si linkage

D. Si-Si -O linkage


https://dl.doubtnut.com/l/_9REOtRmlsRh4
https://dl.doubtnut.com/l/_bRiqWCKhuimj

Answer: A

o Watch Video Solution

25. The repeating units of PCTEF is

A. CFQ — CFQ

B.CH, = CH,

C. CF3 — CF3
Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_bRiqWCKhuimj
https://dl.doubtnut.com/l/_8011ukbQfm6s

26. Polymer used in bullet proof glass is:

A. Lexan

B. PMMA

C. Nomex

D. Kevlar

Answer: A

° Watch Video Solution

27. Pick out the unsaturated fatty acid from the following

A. Tearic acid

B. Lauric acid


https://dl.doubtnut.com/l/_9yW4bJal0wKh
https://dl.doubtnut.com/l/_6VCKuTy8d69i

C. Oleic acid

D. Keratin

Answer: C

o Watch Video Solution

28. Proteins fulfil several functions in living system . An

example of a protein which acts as a hormone is

A. Casein

B. Oxytocin

C. Trypsin

D. Keratin


https://dl.doubtnut.com/l/_6VCKuTy8d69i
https://dl.doubtnut.com/l/_h8PzJdmcJWys

Answer: B

o Watch Video Solution

29. A compound of mol. Wt 180 is acetyle to give a compound

of mol. Wt 390. the number of amino groups in the initial

compound is

A2

B.4

C.5

D.6

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_h8PzJdmcJWys
https://dl.doubtnut.com/l/_WSwm6TUnQiJ7

30. Sucrose is made up of

A. A gluco pyranose and a fructo pyranose

B. A glucose a fructose

C. A gluco furanose and a fructo pyranose

D. A gluco furnose and a fructo furanose

Answer: B

° Watch Video Solution

31. The source of energy in a cellular reaction is

A. Chemical energy


https://dl.doubtnut.com/l/_WSwm6TUnQiJ7
https://dl.doubtnut.com/l/_F9lSoqQWzLjE
https://dl.doubtnut.com/l/_u5AKUqLT8qI1

B. light energy

C. Heat energy

D. Solar radiation

Answer: A

° Watch Video Solution

32. Which one of the following metal ionss is essential inside
the cell for the metabolsim of glucose/synthesis of
proteins:

A Ca**

B. Mg>™"

C.Na™


https://dl.doubtnut.com/l/_u5AKUqLT8qI1
https://dl.doubtnut.com/l/_D7zS4LFTjf47

D.K™*

Answer: B

o Watch Video Solution

33. Which of the following statement is not correct

A. Caprolactam is the monomer of nylon-6

B. Terylene is the monomer of nylon-6

C. Phenol formaldehyde resin is known as bakelite

D. The monomer of natural rubber is butadiene

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_D7zS4LFTjf47
https://dl.doubtnut.com/l/_TYsL4bc9N50i

34. Protein can be most easily removed from

A. Alkanes

B. Alkenes

C. Alkynes

D. Benzene

Answer: D

° Watch Video Solution

35. Which one of the following is a polysaccharide

A. Nylon

B. Amylose


https://dl.doubtnut.com/l/_5L5jW5evoi4V
https://dl.doubtnut.com/l/_ait2P1RaWLtj

C. Ribose

D. Polyethylene

Answer: B

° Watch Video Solution

36. Trans -form of polyisoprene is

A. Guttapercha

B. Hydrochloride rubber

C.Buna-N

D. Synthetic rubber

Answer: A

| &


https://dl.doubtnut.com/l/_ait2P1RaWLtj
https://dl.doubtnut.com/l/_BnpYbx3kOZRG

[ W Watch Video Solution

37. Wash and wear clothes are manufactured using

A. Nylon fibres

B. Cotton mixed with nylon

C. Terylene fibres

D. Wool fibres

Answer: C

o Watch Video Solution

Jee Setction Only One Choice Correct Answer


https://dl.doubtnut.com/l/_BnpYbx3kOZRG
https://dl.doubtnut.com/l/_RseE44y30kHa

1. Schweitzer's reagent used for dissolving cellulose in the
manufacture of artificial silk is

A. CuS04.5H,0

B. Cul

C. [C’u(NH3)4] SOy

D. Cu(CH;COO0),. Cu(OH),

Answer: C

o Watch Video Solution

2. Which of the following pairs give positive Tollen's test ?

A. Glucose, sucrose


https://dl.doubtnut.com/l/_Hc7xLDiBg46Q
https://dl.doubtnut.com/l/_I2a3SJ5jLWeo

B. Glucose, fructose

C. Hexanal, acetophenone

D. Fructose, sucrose

Answer: B

° Watch Video Solution

3. The two forms of ‘D-glucopyranose obtained from solution

of D-glucose are known as:

A. Isomer

B. Anomer

C. Epimer

D. Enantiomer


https://dl.doubtnut.com/l/_I2a3SJ5jLWeo
https://dl.doubtnut.com/l/_oM0wvJY4qbQm

Answer: B

o Watch Video Solution

4. Cellulose upon acetylation with excess acetic anhydride/
H,50, (catalytic) gives cellulose triacetate whose structure
is

A ls

B. s

c.l=

D. s’

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_oM0wvJY4qbQm
https://dl.doubtnut.com/l/_j21g4Rs3U8jG

5. Among cellulose, poly (vinyl chloride), nylon and natural

rubber, the polymer in which the intermolecular force of

attraction is weakest is

A. Nylon

B. Polyvinyl chloride

C. Cellulose

D. Natural rubber

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_j21g4Rs3U8jG
https://dl.doubtnut.com/l/_DrM9sHh08g1G

6. The correct statement about the following disaccharide is

L.

L

A.Ring (a) is pyranose with a-glycosidic link

B. Ring (a) is furanose with a-glycosidic link

C.Ring (b) is furanose with a-glycosidic link

D. Ring (b) is pyranose with B-glycosidic link

Answer: A

° View Text Solution

7.The following carbohydrates is

|

L


https://dl.doubtnut.com/l/_O9L1OPWWzJL6
https://dl.doubtnut.com/l/_m42V8DydlNn0

A. A ketohexose

B. An aldohexose

C. An a-furanose

D. An a-pyranose

Answer: B

° View Text Solution

8. Synthesis of each molecule of glucose in photosynthesis

involves :

A. 18 molecules of ATP

B. 10 molecules of ATP

C. 8 molecules of ATP


https://dl.doubtnut.com/l/_m42V8DydlNn0
https://dl.doubtnut.com/l/_rAccsztWTOfC

D. 6 molecules of ATP

Answer: A

o Watch Video Solution

9. Which one is classified as a condensation polymer ?

A. Dacron

B. Neoprene

C. Teflon

D. Acrylonitrile

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_rAccsztWTOfC
https://dl.doubtnut.com/l/_hzDymNVev3mJ

10. Which of the following base is not present in DNA ?

A. Quinoline

B. Adenine and thymine, guanine and cytosine

C. Cytosine

D. Thymine

Answer: A

o Watch Video Solution

11. The structure of D-(+)-glucose is

L.

L

The structure of L-(-)-glucose is


https://dl.doubtnut.com/l/_XA8h3kE1PBpb
https://dl.doubtnut.com/l/_B7XnNSoafMk3

A=

B. o

c.le

D. s

Answer: A

o View Text Solution

12. Which of the vitamins given below is water soluble ?

A. vitamin C

B. vitamin D

C.Vitamin E

D. Vitamin K


https://dl.doubtnut.com/l/_B7XnNSoafMk3
https://dl.doubtnut.com/l/_AI8AfSsJjoVQ

Answer: A

o Watch Video Solution

13. Which of the following compounds will behave as a

reducing sugar in an aqueous KOH solution ?

Al

B. s

c.l=

D. s’

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_AI8AfSsJjoVQ
https://dl.doubtnut.com/l/_CQtKQoPNWja0
https://dl.doubtnut.com/l/_2zcn0stFnCB0

14. Glucose on prolonged heating with HI gives

A. 1-Hexene
B. Hexanoic acid
C. 6-iodohexanle

D. n-Hexane

Answer: D

° Watch Video Solution

15. Which of the following is monosaccharide

A. Galactose

B. Sucrose


https://dl.doubtnut.com/l/_2zcn0stFnCB0
https://dl.doubtnut.com/l/_ZO6OZ7JWuCTz

C. Glycogen

D. Cellulose

Answer: A

o Watch Video Solution

16. Glucose on reduction with NaBH, gives

A. sorbitol

B. Fructose

C. Glycerol

D. None of these

Answer: A

| &


https://dl.doubtnut.com/l/_ZO6OZ7JWuCTz
https://dl.doubtnut.com/l/_SrLsNaeJIhPM

[ W Watch Video Solution

17. Amino acid are

A. Acidic

B. Basic

C. Amphoteric

D. All of these

Answer: D

o Watch Video Solution

18. Which of the following is a natural polymer?

A. Nylon


https://dl.doubtnut.com/l/_SrLsNaeJIhPM
https://dl.doubtnut.com/l/_nH6a0ZEcKOVh
https://dl.doubtnut.com/l/_7MVu1YkYQgid

B. Teflon

C. PVC

D. Cellulose

Answer: D

o Watch Video Solution

19. Which of the following is not a polyamide?

A. Nylon -66

B. Nylon-6

C.Silk

D. gyptal


https://dl.doubtnut.com/l/_7MVu1YkYQgid
https://dl.doubtnut.com/l/_G6D8a8OosWSO

Answer: D

° Watch Video Solution

20.The products expected from the reaction
CHO

|
CH,

| HIO,
CHOH —

€excess

CHOH

|
CH,OH

0

|
AH—-C-CHy,—-CHO+ HCOOH + HCHO

B. HOOC-CHOH-CHOH-COOH+HCOOH

Cc. HOOC — CH,CH,COOH + HCOOH + HCHO


https://dl.doubtnut.com/l/_G6D8a8OosWSO
https://dl.doubtnut.com/l/_8IlLa3LkqkEQ

D. HOOC — COOH + HCOOH + HCHO

Answer: A

o Watch Video Solution

21. Milk sugar, once digested furnishers

A. D-glucose

B. L-glucose

C. Fructose

D. Lactose

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_8IlLa3LkqkEQ
https://dl.doubtnut.com/l/_pagZrTrBz0cx

22. Which of the following coenzymes assist enzymatic

reduction

A. NADH

B. NADPH

C. FADH,

D. All of these

Answer: D

° Watch Video Solution

23.The activity of the enzymes pepsin is maximum at the pH

value of


https://dl.doubtnut.com/l/_3RhaT58uSZyp
https://dl.doubtnut.com/l/_euuzc1Kvab6w

A 15

B.6.5

C.85

D.10.5

Answer: A

° Watch Video Solution

24. Gallastone contains mainly

A. Calcium oxalate

B. Chloresterol

C. Citric acid

D. Uric acid


https://dl.doubtnut.com/l/_euuzc1Kvab6w
https://dl.doubtnut.com/l/_WWYr7zHNZLRI

Answer: B

o Watch Video Solution

25.Thymine is

A. 5-methyl uracil

B. 4-methyl uracil

C. 3-methyl uracil

D. 1-methyl uracil

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_WWYr7zHNZLRI
https://dl.doubtnut.com/l/_KByw2Giu9ZPn

26. Lysine is least soluble in water in the pH range.

A.3to4

B.5to 6

C.6to7

D.8to 9

Answer: d

o Watch Video Solution

Jee Setction More Than One Choice Correct Answer

1. The correct statement (s) about the following sugars X and

Y is (are)


https://dl.doubtnut.com/l/_VPgpiM2UT81U
https://dl.doubtnut.com/l/_UUUWIxjKbjtc

A. X is a reducing sugar and Y is a non-reducing sugar

B. X is a non-reducing sugar and Y is reducing sugar

C.The glucosidic linkage in X and Y are a and S

respectively

D. The glucosidic linkage in the X and Y are 8 and «

respectively

Answer: B::C

° View Text Solution

2. The correct functional group X and the reagent/reaction

condition Y in the following scheme are


https://dl.doubtnut.com/l/_UUUWIxjKbjtc
https://dl.doubtnut.com/l/_JBmP3JKdDyYD

L

Condensation polymer
A. X = COOCH;,Y = H,/ Ni/heat
B.X = CONH,,Y = H,/Ni/heat
CX = CONHQ, Y = B’I"Q/NGOH

D.X = CN,Y = H,/Ni/heat

Answer: A::B::C::D

° View Text Solution

3. For 'invert sugar', the correct statement(s) is (are)
(Given : specific rotations of (+) - sucrose, (+) - maltose, +

66°, + 140°, — 52° and 92° respectively)


https://dl.doubtnut.com/l/_JBmP3JKdDyYD
https://dl.doubtnut.com/l/_TKK8qZuVthMi

A. Invert sugar' is prepared by acid catalyzed hydrolysed

of maltose

B. Invert sugar' is an equimolar mixture of D-(+)-glucose

and D-(-)-fructose

C. Specific rotation of 'invert sugar' is —20°

D.On reaction with Br; water, 'invert sugar' forms

saccharic acid as one of the products

Answer: B::C

° Watch Video Solution

4. Which of the following are natural polymers

A. Proteins to amino acids


https://dl.doubtnut.com/l/_TKK8qZuVthMi
https://dl.doubtnut.com/l/_oPDYNRvJk8sW

B. Cellulose

C. Teflon

D. Natural rubber

Answer: A::B::D

o Watch Video Solution

5. Which of the following are step growth as well as

condensation polymer

A. Nylon-66

B. Bakelite

C. Nylon-66

D. Buna-S


https://dl.doubtnut.com/l/_oPDYNRvJk8sW
https://dl.doubtnut.com/l/_nDRJZSgfjXrr

Answer: A::B::C::D

o Watch Video Solution

6. Teflon, polystyrene and neoprene are all:

A. Addition polymers

B. Chain growth polymer

C. Condensation polymer

D. step growth polymer

Answer: A::B

o Watch Video Solution



https://dl.doubtnut.com/l/_nDRJZSgfjXrr
https://dl.doubtnut.com/l/_BiYCLoV4CFcS

7. Which of the following eract with phenyl hydrazine to give

same osazone

A. Glucose

B. Fructose

C. Mannose

D. Galactose

Answer: A::B

o Watch Video Solution

8. Which of the following show glucose has aldehyde group

A. It gives Tollen's reagent test


https://dl.doubtnut.com/l/_PJrEIcW96HvO
https://dl.doubtnut.com/l/_hgjPD4suYbU1

B. It gives Fehling's solution test

C. It gives Schiff's reagent test

D. It gives reaction with NaHS0O3 and NH;

Answer: A::B

° Watch Video Solution

9. Which of the following do not undergo hydrolysis?

A. Glucose

B. Fructose

C. Cane sugar

D. Maltose


https://dl.doubtnut.com/l/_hgjPD4suYbU1
https://dl.doubtnut.com/l/_kE5iIw3V1tT6

Answer: A::B

o Watch Video Solution

10. Which of the following are soluble in water

A. a-Keratin

B. Albumin

C. Haemoglobin

D. Casein

Answer: B::C::D

o Watch Video Solution



https://dl.doubtnut.com/l/_kE5iIw3V1tT6
https://dl.doubtnut.com/l/_xa8Ik0MPFb4q

1. Which of the following statements are correct with

reference to isoelectric point?

A.The isoelectric point is the pH at which the amino acid

bears no net charge

B. It corresponds to pH at which the concentration of the

zwitter ion is at a maximum

C. It is not the average of pK,, and pK,, values

D. All of these

Answer: A::B

° Watch Video Solution



https://dl.doubtnut.com/l/_7nktAEWThN45

12. Which of the following are biodegradable polymers?

A. PHBV

B. polyglycollic acid

C. Polylactic acid

D. Nylon-66

Answer: A

o Watch Video Solution

13. Crystalline polymers are

A. Harder

B. Denser


https://dl.doubtnut.com/l/_0y4cTRNJHrgl
https://dl.doubtnut.com/l/_QkgeaiFiCiAI

C. Heavier

D. None of these

Answer: A::B

o Watch Video Solution

14. Chain growth polymerization may

proceed by the following mechanism

A. Condensation polymerization

B. Cationic polymerization

C. Anionic polymerization

D. Free radical polymerization


https://dl.doubtnut.com/l/_QkgeaiFiCiAI
https://dl.doubtnut.com/l/_RpLPqpCwIa9P

Answer: B::C::D

o Watch Video Solution

15. Which of the following is/are not associated with rubber

A. Conducting nature

B. Oriented nature

C. Elastic nature

D. Commercially avialable strong fibre

Answer: A::B::D

o Watch Video Solution



https://dl.doubtnut.com/l/_RpLPqpCwIa9P
https://dl.doubtnut.com/l/_F3bDWHeERvZV

16. Indicate the correct statement for chain growth polymers

A. These polymers are made by the addition of monomers

B. The end of a chain is reactive because it is a free radical
cation or anion

C. Polystyrene is the example of this class

D. It takes place step by step

Answer: A::B::C

° Watch Video Solution

17. Disaccharides are of four types, namely 1,4'-glycosides, 1-6'-

glycosides, 1,1'-glycosides are 1,5'-glycosides. Which of these

will be reducing


https://dl.doubtnut.com/l/_8AhKsixHGYmM
https://dl.doubtnut.com/l/_KBneKhRZbDTx

A.14'-

B.1,6-

C.1,1-

D.1,5'"-

Answer: A::B::D

o Watch Video Solution

18. Which of the following monosaccharides yields an

optically active alditol on NaBH, reduction

A7

B. Lo

c.l=


https://dl.doubtnut.com/l/_KBneKhRZbDTx
https://dl.doubtnut.com/l/_OBLz4Sz6gTMu

D. s

Answer: A::B::D

° View Text Solution

19. Which of the following are addition copolymers

A. Saran

B. vinyon

C.SBR

D. PVC

Answer: A::B::C

o Watch Video Solution



https://dl.doubtnut.com/l/_OBLz4Sz6gTMu
https://dl.doubtnut.com/l/_W2sbxglAcHTi

20. which of the following are highly crossed linked polymers

A. Alkyd resin

B. Melamac

C. LDPE

D. PAN

Answer: A::B

o Watch Video Solution

21. Which of the following polymers can be made by free

radical addition polymersation mechanism?

A. PE


https://dl.doubtnut.com/l/_THt8XZAiE5M0
https://dl.doubtnut.com/l/_3cd7W22fIV6t

B. HDPE

C. LDPE

D. Teflon

Answer: A::B::C

o Watch Video Solution

Jee Setction Reasoning Type Question

1. Statement | : Glucose gives a reddish-brown precipitate
with Fehling's solution
Statement Il : Reaction of glucose with Fehling's solution

gives CuO and gluconic acid


https://dl.doubtnut.com/l/_3cd7W22fIV6t
https://dl.doubtnut.com/l/_j7vht81BIG4O

A. Statement 1 is true, statement-2 is true , statmenent -2

is a correct explanation for statement -1

B. Statement 1 is true, statement 2 is true, statement 2 is

not a correct explanation for statement 1

C. Statement 1is true, statement 2 is false

D. Statement 1 is false, statement 2 is true

Answer: C

° Watch Video Solution

2. Statement | : Glucose gives a reddish-brown precipitate
with Fehling's solution
Statement 1l : Reaction of glucose with Fehling's solution

gives CuO and gluconic acid


https://dl.doubtnut.com/l/_j7vht81BIG4O
https://dl.doubtnut.com/l/_fziQQuUvbHBt

A. Statement 1 is true, statement-2 is true , statmenent -2

is a correct explanation for statement -1

B. Statement 1 is true, statement 2 is true, statement 2 is

not a correct explanation for statement 1

C. Statement 1is true, statement 2 is false

D. Statement 1is false, statement 2 is true

Answer: C

° Watch Video Solution

3. Statement -1: Vinylidene chloride forms isotactic.
Statement -2: Vinylidene chloride contains chiral carbon

atoms


https://dl.doubtnut.com/l/_fziQQuUvbHBt
https://dl.doubtnut.com/l/_mqjLrIfkmAj3

A. Statement 1 is true, statement-2 is true , statmenent -2

is a correct explanation for statement -1

B. Statement 1 is true, statement 2 is true, statement 2 is

not a correct explanation for statement 1

C. Statement 1is true, statement 2 is false

D. Statement 1is false, statement 2 is true

Answer: D

° View Text Solution

4. A: PMMA is used for making lenser and light cover.

R:It has excellent light transmission properties.


https://dl.doubtnut.com/l/_mqjLrIfkmAj3
https://dl.doubtnut.com/l/_3axnGzmHWico

A. Statement 1 is true, statement-2 is true , statmenent -2

is a correct explanation for statement -1

B. Statement 1 is true, statement 2 is true, statement 2 is

not a correct explanation for statement 1

C. Statement 1is true, statement 2 is false

D. Statement 1 is false, statement 2 is true

Answer: A

° Watch Video Solution

5. Statement 1:Nylon fibres are stronger than terylene fibres.
Statement 2:Intermolecular forces of attraction in terylene

are H-bonding.


https://dl.doubtnut.com/l/_3axnGzmHWico
https://dl.doubtnut.com/l/_2jOzkWwmQmv0

A. Statement 1 is true, statement-2 is true , statmenent -2

is a correct explanation for statement -1

B. Statement 1 is true, statement 2 is true, statement 2 is

not a correct explanation for statement 1

C. Statement 1is true, statement 2 is false

D. Statement 1 is false, statement 2 is true

Answer: C

° Watch Video Solution

6. Statement I: Carboxypeptidase is an exopeptidase

Statement Il: It cleaves N-terminal bond.


https://dl.doubtnut.com/l/_2jOzkWwmQmv0
https://dl.doubtnut.com/l/_kxnWoOi2JJR8

A. Statement 1 is true, statement-2 is true , statmenent -2

is a correct explanation for statement -1

B. Statement 1 is true, statement 2 is true, statement 2 is

not a correct explanation for statement 1

C. Statement 1is true, statement 2 is false

D. Statement 1 is false, statement 2 is true

Answer: C

° Watch Video Solution

7. Statement I: Glycosides mutarotate.
Statement Il: The anomeric OH is etherified and the

equilibrium with the free carbonyl form is destroyed.


https://dl.doubtnut.com/l/_kxnWoOi2JJR8
https://dl.doubtnut.com/l/_fqp8Q8MR0Vq0

A. Statement 1 is true, statement-2 is true , statmenent -2

is a correct explanation for statement -1

B. Statement 1 is true, statement 2 is true, statement 2 is

not a correct explanation for statement 1

C. Statement 1is true, statement 2 is false

D. Statement 1is false, statement 2 is true

Answer: D

° Watch Video Solution

8. Statement -1: a-Keratin is a structural protein

Statement -2: It is globular protein.


https://dl.doubtnut.com/l/_fqp8Q8MR0Vq0
https://dl.doubtnut.com/l/_HFlLksw3A8hY

A. Statement 1 is true, statement-2 is true , statmenent -2

is a correct explanation for statement -1

B. Statement 1 is true, statement 2 is true, statement 2 is

not a correct explanation for statement 1

C. Statement 1is true, statement 2 is false

D. Statement 1 is false, statement 2 is true

Answer: C

° Watch Video Solution

Jee Setction Comprehension Type



https://dl.doubtnut.com/l/_HFlLksw3A8hY

1. Treatment of compound O with KMnO,/H ™" gave P,
which one heating with ammonia gave Q. the compound Q
on treatment with Brs /NaOH produced R. on strong
heating, Q, gave S, which on further treatment with ethyl 2-
bromopropanoate in the presence of KOH followed by

acidification, gave a compound T.

The compound R is

D. le.

Answer: A



https://dl.doubtnut.com/l/_85VxDL1jsXOl

| QJ View Text Solution

2. Treatment of compound O with KMnO,/H ™ gave P,
which one heating with ammonia gave Q. the compound Q
on treatment with Bry/NaOH produced R. on strong
heating, Q, gave S, which on further treatment with ethyl 2-
bromopropanoate in the presence of KOH followed by
acidification, gave a compound T.

.

The compound T is
A. Glycine
B. Alanine

C.Valine

D. Serine


https://dl.doubtnut.com/l/_85VxDL1jsXOl
https://dl.doubtnut.com/l/_YyIBoOMnuH4C

Answer: B

o View Text Solution

3. On the basis of intermolecular forces of attraction,
polymers, are classified as elastomers, fibres, thermoplastics
and thermosetting polymers. Elastomers have the weakest
while fibres have the strongest intermolecular forces of
attraction. Polymers which can be chemical composition and
mechanical strength are called thermoplastics. in contrast,
those polymers which can be heated only once when they
undergo a permanent change in chemical composition to
give a hard, infusible and insoluble mass, are called

thermosetting polymers.


https://dl.doubtnut.com/l/_YyIBoOMnuH4C
https://dl.doubtnut.com/l/_9uZHcMX7XsCB

Which of the following can be remelted time and again

without producing any change

A. PVC

B. Bakelite

C. Melmac

D. Urea-formaldehyde resin

Answer: A

° View Text Solution

4. On the basis of intermolecular forces of attraction,
polymers, are classified as elastomers, fibres, thermoplastics
and thermosetting polymers. Elastomers have the weakest

while fibres have the strongest intermolecular forces of


https://dl.doubtnut.com/l/_9uZHcMX7XsCB
https://dl.doubtnut.com/l/_1r85vrjUVLvL

attraction. Polymers which can be chemical composition and
mechanical strength are called thermoplastics. in contrast,
those polymers which can be heated only once when they
undergo a permanent change in chemical composition to
give a hard, infusible and insoluble mass, are called
thermosetting polymers.
Which are true for elastomers

A. They possess elasticity

B. These possess weak intermolecular forces of attraction

between polymer chains

C. Vulcanized rubber is an example of elastomer

D. All are correct

Answer: D

‘ ° View Text Solution


https://dl.doubtnut.com/l/_1r85vrjUVLvL

5. On the basis of intermolecular forces of attraction,
polymers, are classified as elastomers, fibres, thermoplastics
and thermosetting polymers. Elastomers have the weakest
while fibres have the strongest intermolecular forces of
attraction. Polymers which can be chemical composition and
mechanical strength are called thermoplastics. in contrast,
those polymers which can be heated only once when they
undergo a permanent change in chemical composition to
give a hard, infusible and insoluble mass, are called
thermosetting polymers.

The linear chains in terylene are held together by

A. Covalent bond

B. Hydrogen bonds


https://dl.doubtnut.com/l/_1r85vrjUVLvL
https://dl.doubtnut.com/l/_0U4djawLoM3z

C. Dipole-dipole interactions

D. Van der waals forces

Answer: C

° View Text Solution

6. Polynucleotides are nucleic acid. Every nucleotide is made
up of three parts, i.e, a pentose sugar , a heterocyclic
nitrogenous base and phosphoric acid. Depending upon the
type of sugar whether, ribose or 2-deoxyribose, nucleic acid
are called RNA and DNA respectively. overall there are
remaining three are pyrimidines . out of these five bases,
each type nucleic acid has four of them.

Which of the following sets of bases is present both in DNA

and RNA


https://dl.doubtnut.com/l/_0U4djawLoM3z
https://dl.doubtnut.com/l/_6dROgW9f91yT

A. Adenine, uracil, thymine

B. Adenine, guanine, cytosine

C. Adenine,guanine,uracil

D. Adenine, guanine,thymine

Answer: B

° View Text Solution

7. Polynucleotides are nucleic acid. Every nucleotide is made
up of three parts, i.e, a pentose sugar , a heterocyclic
nitrogenous base and phosphoric acid. Depending upon the
type of sugar whether, ribose or 2-deoxyribose, nucleic acid
are called RNA and DNA respectively. overall there are

remaining three are pyrimidines . out of these five bases,


https://dl.doubtnut.com/l/_6dROgW9f91yT
https://dl.doubtnut.com/l/_hSnw7sx4Lrbi

each type nucleic acid has four of them.

Which base is found only in the nucleotides of RNA

A. Adenine

B. Uracil

C. Guanine

D. Cytosine and uracil

Answer: B

° View Text Solution

8. Polynucleotides are nucleic acid. Every nucleotide is made
up of three parts, i.e, a pentose sugar , a heterocyclic
nitrogenous base and phosphoric acid. Depending upon the

type of sugar whether, ribose or 2-deoxyribose, nucleic acid


https://dl.doubtnut.com/l/_hSnw7sx4Lrbi
https://dl.doubtnut.com/l/_mHvarcRYtgLK

are called RNA and DNA respectively. overall there are
remaining three are pyrimidines . out of these five bases,
each type nucleic acid has four of them.
In nucleic acids, the nucleotides are linked to one another
through

A. Hydrogen bond

B. Peptide bond

C. Glycosidic linkage

D. Phosphate groups

Answer: D

o View Text Solution

Jee Section Integer Type


https://dl.doubtnut.com/l/_mHvarcRYtgLK

1. The substitutents R, and R, for nine peptides are listed in
the table give below. How many of these peptides are
positively charged at pH=7.0

| =

L

° View Text Solution

2. A tetrapeptide has —COOH group on alanine. This
produces glycine (Gly), valine (Val), phenyl alanine (Phe) and
alanine (Ala), on complete hydrolysis. For this tetrapeptide,
the number of possible sequences (primary structures) with

— N H, group attached to a chiral centre is :

o Watch Video Solution



https://dl.doubtnut.com/l/_L3aTjqXbL3gF
https://dl.doubtnut.com/l/_3yGETGyAL6fT

3. The total number of lone-pairs of electrons in melamine is.

o Watch Video Solution

4. The total number of distinct naturally occuring amino
acids obtained by complete acidic hydrolysis of the peptide

shown below is

2

o View Text Solution

5.The total number of possible aldohexoses belonging to D-

series is

o Watch Video Solution



https://dl.doubtnut.com/l/_5OdcI9uzU3F2
https://dl.doubtnut.com/l/_9f6OQ6qt1UGK
https://dl.doubtnut.com/l/_H2Bni55ZF02m

6. The number of chiral carbons in 8 — D( + ) — glucose is:

o Watch Video Solution

7. The total number of basic group in the following form of

lysine is

o

o View Text Solution

8. The number of tripeptides formed by three different amino

acids is:

o Watch Video Solution



https://dl.doubtnut.com/l/_6lXbr4sPgS5k
https://dl.doubtnut.com/l/_Ui55hgiSzSSe
https://dl.doubtnut.com/l/_hRDxrW00e2JT
https://dl.doubtnut.com/l/_QINL1YTPvDXm

9. Amogst the following the total number of thermoplastics
is: Polythene, PVC, teflon, PAN, PMMA, polyster, bakelite, nylon

6, melamine formaldehyde.

° Watch Video Solution

10. How many of the following are thermosetting polymers?
Bakelite, polyester, polyvinyl acetate, SBR, polypropylene,
nylon 6,6, thiokol, urea-formaldehyde resin, melamine

formaldehyde resisn.

° Watch Video Solution

11. How many of the following are biodegradable polymers?

PVC, PAN, polystyrene, cellulose, dextron, glyptal, PHBV, nylon


https://dl.doubtnut.com/l/_QINL1YTPvDXm
https://dl.doubtnut.com/l/_v8iuDoBfRj8k
https://dl.doubtnut.com/l/_KBGpl1KwYsPX

6,6, nylon-2-nylon-6.

o Watch Video Solution

Jee Section Matrix Type Questions

1. Match the chemical substance in Column | with type of

polymers/type of bond in Column II

&

° View Text Solution

2. Match the entries listed in Column | with appropriate

enteries listed in Column Il .

&2

| = |


https://dl.doubtnut.com/l/_KBGpl1KwYsPX
https://dl.doubtnut.com/l/_dP9uBasUr4fZ
https://dl.doubtnut.com/l/_fDR7pQY4Hk50

| @ View Text Solution ]

3. Match the entries listed in Column | with appropriate

entries listed in Column Il

&2

o View Text Solution

4. Match the entries listed in Column | with appropriate

entries listed in Column Il .

=

o View Text Solution

Jee Section Jee Advanced 2018 More Than One Choice Correct

Answer


https://dl.doubtnut.com/l/_fDR7pQY4Hk50
https://dl.doubtnut.com/l/_7DwgalBlUMc3
https://dl.doubtnut.com/l/_mauiwDnNtriJ

1. The Fischer presentation of D-glucose is given below
5
The correct structure (s) of S-L-glucopyranose is (are)
Al
B. Lo

C.les

D. s’

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_JdrL9CHRDJhW

